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1. >@A™"™5 . *&*B5,"=

L1 "$%T($*, -., /1%"3-3%*, $35%"6-(1"8"3$$h: ;<"/318*=>.

A& *** «, - ISWHOLIH  235-10# «6893» (I -.3%6=8()&
(&>3?A=1.2C$&( (3D E2?-&.C)GH 3C 27.12.2016 1 277.

J3>383. (! -.3$6=8()& (8>37A=1.7C$&((3D E2?-&.C)GH -.382C(3D =32A5&(CIK))
I 12/16-02-6 3C 09.12.2016, GI2UOLM((HD 580=A *** «,-.1$%#011# 235-1()#
«689;» ((1216L)2) ) *** «P(O&(&.(HD K&(C. «QUST!-U.35E2» (P?-3%()C&%S)
(! -.3%8=6()& (8>37A=1.2C$&((3D E2?7-&.C)GH -.382C(3D =32A5&(C!K)) -3 3WX&2CA
(! -.3%8=6()& (8>37A=1.2C$&((3D E2?7-&.C)GH -.382C(3D =32A5&(C!K)) -3 3WX&2CA
«22-26-ECIO(HD 0)%3D =35 ? -3=685(3D !$C3?2C3#(23D ) $7C.3&(3--.)?C.3&((H5)
(40)%H5) -356180)#5). Y3..42C).3$2! 1 3».

U.382C(1# =32A5&(CIK)# Z)T. 10.108-0075-01.01- (-&.&L&(S . 16=8%3$ - .382C(3D
=32A58(CIK)) -.)$8=M( $ -3=. 16=8%8 3.2.1 (17C3#18>3 G12%OLE()H).

1.2. 2'3-3%*, %A %AB3<83 $35%"6-(1"8"3$$h: ;<"/318*=> (" 6<(=($*3C "*-(
* $(*CIBU"($*, 1("™C(81*"(3Ch: -%<6C3$8(D** (C(831*(.%"), 1(=-3.%" 8(<h:
~0<BC3$8 (D**).

*|IX82C35 (&>3?A=1.7C$&((3D E27-&.CYGH #$U#ECH# -.382C(M# =32A5&(CIK)#
-3 3WX&2CA: «22-26-ECIO(HD O)%3D =35 ? -3=685(3D !$C3?7C3#(23D ) $2C.3&(3-
~.)2C.38((H5) (&0)%H5) -358618()#5). Y3..842C).3$2! 1 3».

sCI=)# -.3620) .381 O# — - .362C(1# =32A58&(CIK)#, Z)T. 10.108-0075-01.01-, >3=
_16.1W3C2) — 2014 >3=, >3= 23. .82C) .3$2) — 2016 >3=.

UE.8L&(S .16=8%3$ -.382C(3D =32A5&(CIK)) -.)$&=M( $ -3=.16=8%& 3.2.1
(17C3#16>3 G12%OL&)H.

1.3. 2"3-3$*, % /13-C383 $35%"6- (1" 8" 3$$%: ;<"/318*=>,

U.8=58C35 (8>37A=1.7C$&((3D E27-&.C)GH #SU#EC?# 3K&(2! ?33C$ECCI)#
- .382C(3D =32A5&(CIK)):

CA[OLE?2)5 .&>WI5&(CI5 (8 €35 L)M& ?1()C!. (3-E-)=85)3%3>)L8&?2)5,

E23%3>)L&?72)5 C.&W3$1 ()45, C.&aW3$1O)#5 >372A=1.72C$4((3D 3[.!(H 3WX&2C3$

2MHSCA. (3>3  (17%8=)#, C.&W3$!Q#5 -30!.(3D, -.35HZU&((3D, #=&. (3D,

1=2)1K)3((3D ) ) (3D WaG3-12(370));

.8GA%SCICI5 ) (0&(&. (H[ )GH?2!1 OD;

>.1=32C.3)CeUS(H5 .&>%!58(C!5;

>.1=32C.3)CAUS(35A ~%! (A C&58%S(3>3 AL12C2!;

('K)3(1%S(H5 2C1 (=1.C15;

61=1()0 (! -.3620).381 8.
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1.4. E-3$8*F*<(D*%$$>3 ""3-3%* , %A %AB3<83 <(/*8(.C$U5% "81%*83.6"8" (.

T1D58(3$! )& 3WX&2C!: «22-26-ECIO(HD 0)%3D =35 ? -3=6&5(3D 1$C32C3#(23D )
$2C.3&(3--.)7C.3&((H5) (40)%H5) -3581&#5). Y3..82C).3$2! 1 3».

_82C3(1[30=0Q)# 3WX&2CY: ;$&.=%3$721# 3WKI2CS, SAQK)-1%S(3& 3W.163$1 &
«©3.3= 921C8.) (WA.>», Y¥).3$22)D .1D3(, Ah. a%O[&.! — YISLIC?21# — bih1=)$32C32721#
— 2 1[%) (2214

J16(1LEQO& 3WXEC!: (&-.3)6$3=2C$&((HD.

b)=2C.3)Ca%S2CS!: (338

U.) (1=%8&0 (37CS 2 3-12(H5 -.3)6$3=2C$&( (H5 3WX82C15: (& 3C(37)C?#.

J1%)L)& -35818&()D ? -32C3#((H5 - .&WHS! ()85 %0=8D: ) 580C?H#.

, -388(S 3C$EC2C$&((37C): (3.5 1%S(HD.

P2c3LO2 T) (1 (?) -3$! O#: 23WC$e((H& 2.6=7C$! G1216L)2!1.

15,  H3JI$*<h-;<USUC*L3"<*3  J(L(<831*"8*<*  U%AB3<8(  <(/*8(.CHU5
"819*83.6"8" ((*= 1(=-3.%" /1%3<8$%: -%<6CI$S (D**):
1458 "$()$ +), .$0228-3.1) , .$022%& 5+, $) , $728%&

U%31.1=S 612C.3D2) - 2031,0 5(
;C.3)C&%S(HD 3WXM5 ($ C.L. 2C3#(2) ) 3T)?! 14): - 97600,0 5¢
- $ 35 L)?%& () 0& 3€5.0,000 - 10008,05¢

1457 95) , :
>\ L1 -%311=S 2$!1.C). - 17802, 8 54
)% -%311=5 231.C). - 9051,0 51
Y3%)L&?C$3 2$!.C) ., $ C35 L) 2%8: - 377 ZC.

8] 1-235(1C(H[ - 215 ZC.

8] 2-235(1C(H[ - 69 ZC.

8] 3-235(IC(H[ - 69 ZC.

8] 4-235(1C(H[ - 24 ZC.
;). -$028$-3.1) , .$022=0 3$(0=>0217 $?>0) , +022$$ 25A2590217:
U%31.1=S -35&1.&()D, $ C35 L) 2%s: - 995,3 54

8] K&(C. -3 A[3=AG! =&CS5) - 78,3 5(

U 3T)? 11 - 41,8 5(

U 3T)? 12 - 59,2 54

U 3T)? 13 - 28,8 5(

U —.3=33$3%S2C$&((HD 5!1>16) ( - 487,6 51

8] C.&(10&. (HD G1% - 147,4 5(

U AGUH ?$#06) «Y3($&2?7>» - 8,5 5d

U AG&% ?$#6) «g3?2C8%8&235» - 5,55(

U 3T)? 14 - 138,254
Y3%)L&?C$3 23C.A=()23$, $ C35 L) 2%¢: - 56 L&%.

8] K&(C. -3 A[3=AG! =&CS5) - 2 L&,
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a 37?11 - 4 L&,

0 37?12 - 4 L&,

0 37?13 - 2 L&,

0 -.3=3$3%S?C$&((HD 51>16)( - 35 L&,

0 3T)? 14 - 3 L&%.

0 C.&C'OM.(HD GI% - 6 L&%.
9=) (3$.858&( (38 23%)L&2C$3 61 ()5101) [?# $ C.&(10&. (35 G1%E - 11 L&%.
B+, $) . $7285
*WL 1% %31 1=S - 1559,5 5i
;C.3)C8%S(HD 3WXN5: - 5882,0 5¢

- $35 L)?%& ()O& 3C5. 0,000 - 4959,0 5e

b582C)537CS - 35 5/582C =Y# 1$C353W)%ED

- 6 5/5&7C =%# 53C3K) 2%3$

D2E020.2$0 $70)3090210

b3=3-3C. e ()& - 108,650 5¢/7AC
- $ 035 L) & >3.#L&D $3=H - 42,704 5¢/2AC
b3=33C$8=4)& - 105,050 5¢/?AC
-8C) $(&-%311=3L(H& ) (0&(&.- (3>3 3W&?-8LE#:
C&-%3C. 127H 2 J(-219/23 (-133 - 0,842/0,046
$3=3-.3$3=1 2JA-300/2JA-200 - 0,270/0,005
21(1%)GIK)) JA-176/IA-200 - 0,097/0,362
CE%8T3()6IK)) 11 JA-100 - 0,440
CE%ET3()6IK)) 12 JA-100 - 0,167
U.3=3%0) C8%S(37CS 7C. 3)Ca%S2CS!:
0 1ECI-! - 29,1 5¢2.
0 2ECI-! - 4,0582.;
0 3ECI-! - 1,0582.;
0 4ECI-! - 0,25 5¢2.

*CIUS(HE  C&[()23-E23(35)LE?2)&  -321G1C&%)  3WX&2C!  21-)CI%S(3>3

2C.3)Ca%S2CS! - .) (HCH WG Y658&(&()D.

1.6. E-3$8*F*<(D*u$$>3 "*3-3%*, % .*D(J, %"6M3"8**"N*J /%-5%8%"<6

/1%3<8%%: -%<6C3$8 (D**.

F.$08,257 $.0521A5H17:
*W182C$3 2 3>. 1()L&( (3D 3C$EC2C$&((37CSO «B(&.>37C.3D.&?A. ?-2000».

i .)=)L&?2)D 1=.62: 620000, >. 921C&.) (WA.>, A%. U=1>3>)L&?21#, =. 5, 23.-A? Q,

3T)? 101.

-$)=6CR%S?C$3 3C 24.09.2012 B 0061-06.12-01 3 =3-A?2& 2 3-.8=8%&((35A $)=A
%) $)=15 .IW3C, 23C3.H& 321GH$1OC $%)#()& (! WEG3-17(37CS 3WX&2C3$ 21-)CI%S(3>3

2C.3)C8%S?CH!, $H=1(3 ;9* JU «U.382C).3$1)2) ;$&.=%3$723D 3Wh17C) .
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1.7. E-3$8*F*<(D*%$$>3 ""3-3%*, % =(, "*83.3, =("81%: M*<3, =(<(=L*<3.

C1=-""#5&3, :1/#7*DA') — *W1&2C$3 ? 3>.1TOQL&((3D 3C$&C?CH&((3?CSO
«, = I$UHO L 235-1()# «B6T&?».
i .)=)L&?2)D 1=.87; 620146, >. 921C&.) (WA.>, A%. U=1>3>)L&221#, =. 5Q, 3T)? 3.

1.8. ?'3-3%*, % -%<6C3$8(J, /%-8'310-(PM*J /%.$%CUL*, =(,"*83.,
~3:"8"%" (86 %8 *C3$* =("81%:M*<(, 83I$*L3"<U% =(<(=L*<( (3".* =(,"*83.C
$3,".,38", =("81%: M*<UC, 83J$*L3"<*C =(<(=L*<%C).

1#5) CAUS #$U#EC?# 612C.3D1)235.

1.9. E"SULS*< FF$($"*1%" ($*, %AB3<8( <(/*8(.GHU5H "81%*83.6"8"(.
- 3W2C$&((H& ?.8=7C$!.

1.10. E$>3 /13-"8(".3$$>3 /% 6"CUS13$*P =(,"*83., "*3-3%*,, $3UAIh-*C>3
—., *-3$8*F*<(D** UAB3<S( <(/*8(.CHU5h "S1%*83.6"8"(, *"/%.$*83.3: 1(A%48
/% /%-5%8%" <3 ~%<6C3$8 (D**, =(, "*83. ,, =("81%:M*<(, 83I$*L3"<Ush =(<(=L*<(.

1& - .8=2C1$%&(H.

2.>/,*%-1,"=9&=T71:710*#)"" . 7*5)#,*D 9*)$45,#1E"""

21, ?2°3-3%*, % =(-($** =("SLh:M*<( *.* 83I$*L3"<Ush =(<(=L*<(
$( 1(EL(A%S<6 /1%3<8$h: -U<BCISB(D**, U'$h($*, * *"Ih-$>3 -($$>3 -.,
/1%3<8* 10" ($*,:

61=10& (! -.3820).3$1()& (PC5. 9) 3WX&2C! «22-26-ECIO(HD O)%3D =35

? -3=685(3D !$C37C3#(23D ) $2C.38(3--.)?C.3&((H5) (&0)%H5) -35&18&()#5)»

(I 3L&.&=S ?C.3)CRUSC$! O)%3>3 235-%82?1 ? (&O)%H5) -35&1&(#5) )

~3=685(3D 1$C372C3#(23D $ >.IOK![ A%)K a%O[&.! — YISLIC?21# —

b%I=)$37C3L(1 — I[W) (21 $ > 921C&.)(WA.>§). Y3..82C).3$2! 13,

AC$&.0=M((3& !216L)235;

CE[L&?2)8& A3$)# (! -3=2%0L&()& 3WXE2C! 2 28CH5 ) (0&(&.- (3>3 3WE?-EL&E)#:

0 j, ***]j1 «P(C&2»3C 23.12.2016 1 1178142 (2%C) 7$46)):

0 CE[OLE?22)& AM3$)# *** «;$8.=%3$221# C&-%3?2(MWOIOLIH 235-1()#»
I 51307-1104-12/16Y-767 3C 25.04.2016>. 3 -.)?3&=)(&Q)# 2 ?%CH5
C&-%3?(WO&()# ? AC3L(&()&5 3C 29.04.2016 >, ()?[. 1 51307-1104-12/248);

~3%30)CE%S(3& 612%0L&()& (8>37A=1.2C$8((3D E2?-&.C)GH 3C 27.10.2014 I 2-1-1-

0040-14 -3 -.382C(3D =32A5&(CIK)) 3WX&2C! 21-)CI%S(3>3 2C.3)CEUSCS!, «22-26-

ECIO(HD O)%3D =35 ? -3=6&5(3D 1$C32C3#(23D ) $2C.3&(3--.)7C.3&((H5)

(80)UH5) -358180)#5)», $H=1((3& *** «P(0&(&. (HD K&(C. «QUSTI-U.35E2»:

~3%30)CE%S(3& 612%0L&()& (8>37A=1.2C$8.((3D E27-&.C)GH 3C 22.09.2015 I 2-1-1-

0027-15 -3 -.382C(3D =32A5&(CIK)) 3WX&2C! 21-)CI%S(3>3 2C.3)CEUSCS!, «22-26-
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ECIO(HD O)%3D =35 ? -3=6&5(3D !$C3?7C3#(23D ) $?C.3&(3--.)?C.3&((H5)
(EO)%HS) -35&1&()#5). Y3..&2C).3%2!», $H=1((3& *** «P(0&(&.(HD K&(C.
«QUST!-U._35E2»;

-3%30)C&%S(3& G12%0L&()& (&>37A=1.7C$&((3D E2?-&.C)GH 3C 07.09.2016 1 66-2-
1-2-0019-16 -3 -.3&2C(3D =32A5&(C!K)) 3WX&2C! 21-)CI%S(3>3 ?C.3)CanS?C$!,
«22-26-EC1O(HD O)%3D =35 ? -3=6&5(3D 1$C3?C3#(23D ) $?C.3&(3--.)7C.3&((H5)
(8O)%HS5) -3581&()#5). Y3..82C) .3$2!1 2», $H=1((3& *** «P(0&(&. (HD K&(C.
«Q%ST!-U.35E2».

3.=>_"/1,"571//4*#75, ,*D 9*)$45,#1E""" (41#57""1&*-)
3.1. >@A"5 /-595,""=.

gl(8& $H-3%(&(('¥ -.382C('# =32AB&(C'K)# ) .8GAUSCICH )(O&(&.(H[
Y6H?221()D  3WXE2C! 21-)CI%S(3>3  ?C.3)CEUSAS!  «22-26-ECIO(HD O0)%3D =35
? -3=685(3D !$C32C3#(23D ) $7C.3&(3--.)7C.3&((H5) (&0)%H5) -35&1&()#5)»
(Z. 10.108-0075-01.01-, 2014>.) $ ~3%(35 3WXM5& WH%) .12?53C.&(H (&>3?A=1.2C$&((3D
F27-8.C)G3D ) -3%30)CE%S(H5 612%0L&()&5 1 2-1-1-0040-14 3C 27.10.2014 A2C! (3$%&(3
?233C$4C2C$)8& -.382C(3D =32A5&(CIK)) C.&W3$1O#5 6123(3=1CE%S?C$! g3?7?)D?23D
86=8.1K)), C&[OL&?22)[ .&%!5&(C3%, (3.51C)$(H[ CA[OL&?2)[ =32A5&(C3$,
C.AW3$I(#5 2 23=%.01()O .16=8%3$ -.382C(3D =32A5&(CIK)) ) .&GA%SCICIS
)(0&(&. (H[ )6H?21(OD, ! C120& ?33C$EC2C$)8& .&GAUSCIC3$ )(O&(&. (H[ )GH?2!(OD
C.aW3$1 O#5 CALOLE?2) [ -&>%!5&(C3$ ) (3.51C)$(H[ C&[()L&?2) [ =32A58(C3$.

b 2015 -3 GI=1()O GI216L)2! WH%! $H-3%(&(! 23..82C).3$2!1 -.382C(3D
=32A58(CIK)) 1 1$ L17C) )658(&)# -.382C(H[ .&Z&(OD -3 $2C.38(3--.)7C.3&((3D
1$C37C3#(2% (>!WI.)CH, $582C)5372CS, $H?3C!, )?22%OL&()# 2-A.3$(&S$H[ -!.23$3L(H[
5&[1()6).3$! ((H[ 582C), -&.&-%1().3$2) -3=$1%S(3>3 ECIO! =35! ? .16581&()&5
C.&('OM.(3>3  Gl%!,  .1G=8%&()# WW3L(3>3  .17-.&=8%)C&%S(3>3 -A(2C! 2
C.1(?T3.51C3.(3D -3=2C!(K)&D (! =$! 3W323wnw&((H[ ?33.A0&Q0# jU ) gu,
23..62C) .3$2) 2$3=(3>3 -%! (! )(O&(&- (H[ 24C&D, 3W32(3$! )# .17LNCIS) 3C?AC2CS)H#
(1. AZ&QO# .80)5!1 ) (?3%#K)) 2A1&2CSA0L)[ ) (=)$)=AlU4S(H[ O)%H[ =353$. I! ((He
-.362C(HE  .&Z&Q# -3%AL)%) -3%30)CEUS(3& GI2%OLE()&  (&>3?A=1.2C$&((3D
F27-&.C)GH I 2-1-1-0027-15 3C 12.09.2015.

b 2016 >3=A -3 G!I=1()O GI216L)2! $H-3%(&(! 23..42C).3$2! -.382C(3D
=32A58(CIK)) 1 2$ L17C) $2%0L&()# $ 237C1$ -.382C(3D =32A5&(CIK)) . 16=8%! «;&C)
=30=4$3D 2!(!%)GIK))» DN 500 -3 =AWKM.A A%. a%O[&.!, 23..82C).3$2) C&[()23-
E23(35)L&?2)[ -321G1CE%ED 3WX&2C!, 23..82C).3$2) CIWH)KH -.382C(3D 531(37C)
3WXE2C! 21-)CI%S(3>3  7C.3)CauS?CH!, -3%AL)SZI#  -3%30)CEUS(3&  G12%OLE()&
(&>37A=".2C$&( (3D E2?-&.C)GH 3C 07.09.2016 >3=! I 66-2-1-2-0019-16.

J12C34#1)5 GI2%0L&()E5 .17253C.&(! 23..82C).3$21 -.382C(3D =32A5&(CIK))
13, $H-3%&((# (! 32(3$!Q) 6!=1(# 61216L)21 $ LI2C) 3-.8=8%&()# 23%)L&2CS!
) 237%C1$ ECI-3$ 2C.3)CR%S2C$! 3WXE2C!, $5&7C)537C) -3=6&5(3D !$C32C34#(2)-
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- .8=A?53C.&(3 35 5!2) (3-5&7C =U# 1$C353W)%8D ) 6 582C =U# 53C3-C&[()2), AC3L(&)H#
~1.158C.38 ) 5823-3%30&()# ZA53611)C(3>3 E2.1(! $=3%S O&%&G(3D =3.3>),
~8.&-%1().3$2) 2$1.C). (! -&.$35 ECIO& =351 $ 37¢[ 8-14/m-U, )?2%0L&)# (1232(3D
201(K)) -301.3CAZ&)# 2C3#(2) $ 237C1$8 -3581&()D -3=$1%S(3>3 ECIO!, $2%40LLO# $
237C1$ -35818()D -3=$1%S(3>3 EC!O! 0)%3>3 =351 $2C.3&((H[ -35&1&()D AG%3$ 2$46)
«g372C8%8235» ) «Y3($82?», )65&(&O# TA(2K)3(1US(3>3 (16(IL&# -.35C38$!.(3>3
51>16) (! (! 3T)? 14, AC3L(EQ# j6U, ACSL&QO# (1.AO(M# 3C=8%2! 1) 2 ECIO&D
6=1Q#, )?22%0L&)# =3-3%()CE%S(3D 6$A23)G3UHK)) -3 2C&(& 5&0=A %) TC3$3D Z![C3D
) )G63%).3$1 ((H5) -35818&()#5) 2A[3(S, (! -&.&-1=8 $H?3C -3%3$ 2 262K)) 580=A
$[3=(3D -%31!=23D ) %)TC3$H5 [3%%35 $H-3(&(! -3=XM5(!# -%ICT3.5!
? $6.C)21%S(H -&.85818&()&5 -3 n*;j g 55555-2012, $2%0OL&O# $ ?37C!$ -.362C(3D
=32A58(C1K)) $(&-%311=3L(H[ 28C&D C&-%3?('WOL()#, $3=3?('WOL(#, $3=33C$e=6)#,
CE%ET3()6IK)), ACSL(EQO# -.382C(H[ -8Z&OD $(AC.&(O[ )(O&(&.(H[ ?)7Ces5.
Y3..820).3$21 -.362C(3D =32A5&(CIK)) $H-3%(&(! -ACN5 $(&28%()# )G5&(EOD $
W&=A01)& .16=8%H/-3=.16=8%H -.382C(3D =32A5&(CIK)): «U3#?()CahS(1# 61-)?221»,
«; [&51 -%1().3$3L(3D 3.>1()6IK)) G&5E%S(3>3 ALI2C21», «Q. [)C&2CA. (H& .8&Z&()#»,
«;)285!1 $3=32(MWOL)#», «;)?CE5! $3=33C$e=4#», «*C3-%&()& $L(C)MHK)I# )
23(=)K)3() .38 ()& $36=A[!, C&-%3$H& 26C)», «38&C) 2$#6)», «U.362C 3.>1()6IK))
20.3)C8USCH!»,  «_ &.3-)HC)# -3 3WE?-8L&(O  -30!.(3D  W&G3-12(37C)»,
«_&.3-.)HC)# -3 3WE?7-8L&()O =37CA-1 ) ($1%)=3$», 2.35& C3>3 $ 2$#0) ? -3%AL&()E5
(3$H[ CE[OL&?2) [ A2%3$)D $H-AL&( (3$HD 1%SW35 «J!.AO(HE 28C) ?$#G)» (10.108-
0075-0L.01-P*;5.1). b 32CI%S(H& .16=8%H/-3=.16=%H -.382C(3D =32A5&(C!K))
)658(&OD (& $(37)%)?S (?5. ;-.1$2A nPUY).

J17C3#1)5 612%0L&OE5 (! 32(381 () CHSULO# *** «, - . I$HHOL1# 235-1()#
«689;» 3C 27.12.2016 1 277 .12?51C.)$18CH# -.382C(3D =32A5&(CIK)) -3 3WXE2CA
«22-26-EC1O(HD 0)%3D =35 ? -3=685(3D 1$C32C3#(23D ) $7C.3&(3--.)7C.3&((H5)
(80)%H5) -358180)#5). Y3..82C).3$21 1 3» + $?1J(0 AS57+#022=L 1A(020218.

3.2.=>_."/1,"5 #5F,""<5/)*D <1/#' _7*5)#,*D 9*)$45,#1E""
3.2.1 Q313L3%$G 1("'C%813$$>J 1(=-3.%" /1%3<8$%: -%<6C3$8 (D**.

U.382C(1# =32A5&(CIK)# -3 3WX&2CA «22-26-ECIO(HD O)%3D =35 ? -3=6&5(3D
1$C32C3#(23D ) $7C.38&(3--.)7C.3&((H5) (8O)%H5) -3581&(0)#5). Y3..82C).3$2!
1 3».17753C.&(! $ 237C1$4:

135&. =32A5&(CY,
135&
=1C! $H-A?2! 115381 O 135&. ) =IC!
03-51 (3.>1)6IK)#- ] ] )65&(&O#
] )?-3%()C&%S)
10.108-0075-01.01-U , Q168 1 UBH2()CRUS (1 ?)65. 93C 02.2017
1= 1 « ! (] @
1 | 3C2014>3=!, 51-)721
? )65. 83C 12.2016
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10.108-0075-01.01-U ,,

916=8% 2 «; [§5!
~h1 () .3$3L(3D

? )65. 93C 02.2017

2 | 3C2015>33, 3.510)61K)) G858%S(3>3
2)65. 83C 12.2016
AL12C21>
10.108-0075-01.01-Qg, J16mi 3 . oazc (| 755 93¢ 022017
3 |3c201453=1, 2O
2)65. 83C 11.2016
91628t 4 Y3 (2C.A2C)$(H&
Y 3WKNS (331 () . 3$3L (H&
LZ&O)#»
10.108-0075-01.01-YgL, 2)65. 93¢ 02.2017
U3=_16=8% 1 «*WXM5(3-
41 | 3c2014>3=L, “%10).333L(H8 .8Z&)#»
2)65. 83C 01.2017
91628 5 «; $6=8 ) # 3W
) (08(&.35 3W3.A=331 (),
3 2%CH[ ) (0&(&. (3-
CRL()LE22353 3Wa2-8L& ) ¥,
~8.8L&(S ) (0&(&. (3
c&[()L&22) [ 58.3-.)#C)D,
23=4.010)4
CRL(3%3>)L&22) [ .8Z&()D»
10.108-0075-01.01- 2)65. 93¢ 02.2017
c,q | PFi21, U3=.16=8% 5.2.1. «; )2C&5!
3¢ 2014 >3=1, $3=32(1W0&()#»
2)65. 83C 12.2016
10.108-0075-01.01-P* ; 2)65. 83C 02.2017
iy U3=.16=6% 5.2.2
5.2.2 «Q$C351C) L2234
3¢ 2016 >3=1,
-301.3CAZ&()&»
2 )65. 83C 09.2016
10108.0075.0101p~: | U3 1646523 2)65. 93¢ 02.2017
gy D (8-%311=3L (1# 2CS
" s 2016501 a0t o
2)65. 83C 12.2016
$3=3-.3$3=!»
10.108-0075-01.01- 2)65. 93¢ 02.2017
caq | PF3L U3=.16=8% 5.3.1. «; )2Ca5!
3¢ 2014 >3=1, $3=33C58=8()#»
2)65. 83C 12.2016
10.108-0075-01.01-P*; | U3=.16=845.3.4.
5.3.4

34

D (&-%311=3L(1# 24CS
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3C 2016 >3=1,
2 )65. 83C 12.2016

WHC3$3D 21 (1%)6!1K))»

10.108-0075-01.01-

U3=.16=¢% 5.4.1

2 )65. 9.3C 01.2017

caq | P4 C3-h8 ()& S&(CYHH)H )
"~ 1 3C 2014 >3=1, 23(=)K)3() .38 &
2)65. 83C 11.2016 $36=A[ !, C&-%3$H8 2C)>
542 | 10.108-0075-01L.01-P*; | U3=.16=84 5.4.2
4.2 O (AC.)-%31 1=3L (H&
3¢ 2016 >3=! CR-%3$HE 2C)»
543 | 10.108-0075-0L01-P*; | U3=.16=4%5.4.3
43 0 (8431 1=3L (H&
3¢ 2016 >3=! CR-%3$HE 2C)»
10.108-0075-01.01-P* ; 5, 265. 93¢ 02.2017
55 |3C 2014531, U3=. 16=6% 5.5 «24C) 7$46)»
2)65. 83C 11.2016
5.5.1 | 10.108-0075-01.01-P*; 5.1 | U3=. 16=84 5.5.1
3¢ 2017 >3=! <] 1. AO(HE 28C) 2$4G)>
10.108-0075-01.01-P* ; 7.2 | U3=. 16=84 5.7.2 2)65. 93¢ 02.2017
5.7.2 | 3¢ 2014 53=1, «A[(BU3>)LE2D)E 8Z&()H
2)65. 83C 12.2016 3TY21 14>
10.108-0075-01.01-
U3=. 16=6% 5.7.3.
573 | >3 JA[(3%35)L822)8 .6ZeO)#
. « ! -
3¢ 2014 >3=1, JELLSH
1$C37C34(2)»
2)65. 83C 12.2016
10.108-0075-01.01-
U3=. 16=4% 5.7.5.
575 |- 1> JA[(3%35)L822)8 .6ZeO)#
. « ! -
3¢ 2014 >3=1, JELLSE
C.&(10N. (353 Cltl>
2)65. 83C 12.2016
10.108-0075-01.01-U*;, | g16=a% 6 «U.342C 2)65. 93¢ 02.2017
6 |3C201553=1, 3.51()6IK))
2)65. 83C 12.2016 2.3)CA%S2CH!»
g16=6% O «_&.3-.)#C)# -3
3W87-8L&()O -301 . (3D
WeG3-12(37C) »
U3=.16=8% 9.1
10.108-0075-01.01-Usa,
« &.3-)#C)# -3
9.1 |3C201453=1,
3Wg7-8L&()O -301 . (3D
2)65. 83C 12.2016
WeG3-12(37C) »
o, |1010B0075-0L0L-U;, | U3=.16=% 9.2 «U3OL. (1¥

3C 2014 >3=1,

2)>(16)6IK)# ) 3-38818()&
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?)65. 83C 12.2016 3 -301.4. Q$C351C)2!
A-.18%&O# 7)2C8515)
~301.3CAZ&Q)# )
=H53A=1%&)#»
10.108-0075-01.01-*JP | g16=8% 10 «_&.3-.)#C)# -3 | ? )65. 9.3C 02.2017
10 | 3C 2014 >3=!, 3W&?-8L&() O =37CA-!
?)65. 83C 12.2016 ) ($1%)=3$»

322 /*"($*3  WSW'$>J  13N3$*:  (C3LW/1*,8*:) /% <(O-%Ch
*= 1(""C%813$$>J 1(=-3.%".

R(=-3. 1 «Q%,"$*83.G3(, =(/*"<(»

us#?QCens(t#  G61-)?21  =3-3n(&(! ?%=¢QOQ#5) ? 3W1L)5 3-)?1()&S
23..820).3%2). gl6=% «P?[3=(H& =1((H&» =3-3%(&( .&2%$)G)C!5) C&[()L&?23>3
GI=1O# (1 23..82C) .3%2A -.3&2C(3D =32A5&(CIK)). *C23..&2C) .3%1(H j6UH 3WX&2C!
21-)CI6S(3>3 ?2C.3)C&%S?C$Y. b ?2372C1$ -3#?()C&%S(3D 6!-)?2) $2%OL&(H (3$H&
=3-3% (&%

R(=-3. 2 «?J3C( /. ($*1%"%LS%: %15($*=(D** =3C3. 5% 6L("8<(»

b ?[&5A -%!1().3$3L(3D 3.>1()GIK)) G&58%S(3>3 ALI?C2! $(&?284(H 2%&=A01)&
Y658 (& #:

-3C23..820) .38 (! $587C)532CS -3=685(3D 1$C32C3#(2), -.&=A?53C.&(3 35
517)(3-582C =%# 1$C353W)%&D ) 6 5&2C =%# 53C3-C&[()2);

- AC3L(&(H -!1.15&C.H ) 5&2C3-3%30&()& ZA536!1)C(3>3 E2.1(! $=3%S O&%&G(3D
=3.3>);

-3C23..820) .3$!( ?$3=(HD -%!( )(O&(&.(H[ ?8C&D ? ALMC35 $(&-%31!=3L(H[
28C&D ) (0&(&. (3>3 3Wa?-8L&O#;

- 3-.8=8%&(3 23%)L&?C$3 ) ?32C1$ ECI-3$ 2C.3)Ce%S?CH! 3WX&2C!;

-3C23..82C) .38 (H .17LMCH E%&5&(C3$ Wi%!>3A2C.3D2C$! $ 2$46) 2 )658(&()&5
23%)L&2C$! O)Ca%ED =3 401 L&%33$82!.
;[853D -%!1().3$3L(3D 3.>1()GIK)) G&58%S(3>3 ALI?C2!  -.8=A?53C.&(3

1658188 2%&=A0 1) [ 3WX&2C3$ 21-)CI%S(3>3 2C.3)Ca%S2C$! ) 233.A0&()D:

- 0)%3D =35 -&.&5&((3D EC!O(37C) (-36.1-3 U ,);

- $2C.38((3--.)?C.3&((1# -3=6&5(1# 1$C32c3#(2! (! 35 5!1Z)(3-542C (-36. 2 -3
U.,)

- $X86=$ -3=6&5 (AO 1$C32C3#(2A 1) 33L&.&=) (-36.3-3U ,);

--.)?C.38( (3% -3581&()&3T)?! B4(-36.4-3U ,);

- $2C.38((3--.)?C.3&((3& -35&18()& 5!>16) (! -.3=3$3%S?C$&((H[ C3%$!.3$ (-36. 5
-3U ,);

- JU—C.1(?T3.51C3. (1# -3=2C1(K)# (-36.6.1 -3 U ,).
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- $36=A[36!W3. (1# Z![C! (-36.7.1-3U ,);

- Z1[C! =H53A=1%8)# (-36. 7.2 -3 U ,);

- Z1[C! 3W1&3W5&( (3D $&(C)%#K)) -3=685(3D 1$€32C3#(2) (-36.7.3-3U ,);

- 17— 8=8%) C&%S(HD -A(2C (-36.6.2-3 U ,).

;3>%12(3 61=1()0 612C.3D1)2! 2C.3)CE%S?C$3 3WX&2C! $H-3%(#8C?# $ 4ECI-1:

-1 EC!- — O)%3D =35 -&.85&((3D EC!O(37C) (-36. 1 -3 U ,), $2C.3&((3-
-.)?2C.3&((1# -3=685(1# 1$C32C3#(2! (! 35 5/5 (-36. 2), -.)?C.3&((HD 3T)? 14
(-36.4-3U ,),jJU(-36.6.1-3U ,);

-2 EC1- — 53(C10 ) (0&(&.(3>3 ) C&[(3%3>)L&?23>3 3W3.A=3$1)# $2C.3&((3>3 $
0)%3D =35 -.3=A2C3$3>3 51>16) (!;

-3 EC!- — 53(C10 ) (0&(&.(3>3 ) C&[(3%3>)L&?23>3 3W3.A=3$1)# $2C.3&((3>3 $
0)%3D =35 C.&(10&. (3>3 GI%!;

-4 ECI- — 17— .8=8%)C&%S(HD -A(2C (-36.6.2-3U ,).

U.382C(H& .&Z&# -3 >3.)G3(C!%S(3D ) $&.C)21%S(3D -.)$#62& 3WX&2C3$
21-)CI%S(3>3 2C.3)Ce%S?2C$!  $ > . TQOQK![ 3C$8=&((3>3 6&58%S(3>3 ALI?C21 -.)(#CH
W&G )65&(&QD.

U.382C(H& .&Z&Q# -3 3.>1()6IK)) ?[&5H C.1(?-3.C(3--&Z&[3=(3>3 =$)0&#
~.) (#CH W86 )65&(&QD.

g8Z&()# -3 Wi1>3A2C.3D?2C$A =$3.3$3D C&..)C3.)) -.) (#CH WeG )65&(&()D.

Ju# 3WE?-&L&# (! =8C?23D -%311=28 =3-A2C)53>3 A.3$(# 6$A2! -3 ;1(U)]
2.1.2.2645-10 ) ;] 2.24/21.8562-96 3C -3C323$ 08&%86(3=3.30(3>3 C.!(?-3.C!
-.&=A?53C.&(! A?CI(3$2! ZA536!11)C(3>3 E2.1(! 3C.!10101&>3 C)-! $H?3C3D 5 5,
=%) (3D 170 5. g165&1&()& E2.1(! $ -3%32& 3C$3=! 0&%&G(3D =3.3>) ((& W)O0& 14 5 3C
2.1D(&>3 .&%S?1) 23>%173$1(3 T)%) 1435 *Q* «gFI» ;$&.=%3$221# ON6(1# =3.3>!
3C 02.10.2015.

JU# -32C3#((3>3 [ 1(&QO)# 1$C353W)%8D O)C&%ED =35! -.8=A?53C.&(3 355!2) (3-
58?C ) 6 53C3-54?C $ -3=685(3D !$C32C3#(2&, ! C120& (! 3C2.HC3D I$C32C3#(2&
(! 4 51Z)(3-5¢7C! (-36. 8.1 -3 U ,) ) 82 51Z)(3-5&7C! (! '$C32C3#(2& -3 !=.87A:
A%. a%O[&.!1, 75 (>1.1(C)D(3& -)?S53 3C *** «;mP_ »). Ju# $.85&((3>3 [.1(&O#
1$C353W)%ED - .8=A?53C.&(3 21 51Z)(3-582C3 (! >32C&$3D !1$C32C3#(28 (-36. 8.2
-3U ,), =%# $.85&((3>3 [.1(&O# 1$C353W)%8D 23C.A=()23$ ) -328C)C&%ED 3T)?3$ -
1$C32C3#(2! (! 4 51Z)(3-582C! (-36. 8.3 -3 U ,), =U# ?3C.A=()23$ ) -324C)C&%ED
51>16) (1 — 1$¢32¢3#(2! (! 17 512)(3-587C (-36. 8.4 -3 U ,). Y.35& (3>3, -.382C(3D
=32A5&(CIK)&D -.8=A?53C.&(! 1$C32C3#(2! =%# $.845&((3>3 [.1(&# 1$C353W)%8&D
33L&.8=) (! 2851Z2)(3-56?C (-36.85-3U ,)

9¢Z&(O# -3 )(0&(&.(3D -3=>3C3%$2& C&..)C3.)), 3.>1()G!K)) .&%S&T!
$&.0)21%S(3D -%!().3$23D, 3C$3=A -3$&.[(3?C(H[ 2C323$ ? C&..)C3.)) -.)(#CH
WG )65&(&QD.

*2(3$(H& C&[()23-E23(35)L&?2)& -32161C&%) -3 U , $ .&GA%SCIC& 23..82C) .3$2)
WG )65&(&QD.
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R(=-3. 2«T1J*83<861$>3 13N3$*,»

Y3..82C).38521 1. [)C&2CA. (H[ -8Z&()D $H-3%(&(! $ L12C):

C8.8-%1().382) 231.C). (! -&.$35 EC108 =35! § 324[ 8-14/m-U 2 3WXe=) (&()&5 1-
Y 2-235(1C(H[ 28!.C). $ 3-235(1C(AO:

-)?22%0L&Q# (1?732(3D 2C1(K)) -30!.3CAZ&# ?2C3#(2) $ ?372CI$& -3581&()D
-3=$1%S(3>3 EC!O!;

_$2HOL&(O)# $ 737C1$ -3541&()D -3=$1%S(3>3 ECIO! O)%3>3 =351 $2C.3&((H[
-3581.4()D AG%3$ ?$#6) «g3?7C&%&235» ) «Y3($&2?7»;

- Y6580 # TACK)3(1%S(3>3 (16(1L&QO# -.35C3$!. (353 51516) (! (1 3T)? 1 4;

- )22%0L8()# =3-3%()CEUS(3D ($A23)63%HK)) -3 2Ca(& 5EO=A %)TC3$3D Z![C3D
) )G3%) .38 ((H5) -35&1&()#5) 2A[3(S;

_ (1 -8.8-1=8 $H?3C ~343$ 2 282K)) 580=A $[3=(3D ~%311=23D ) %) TCI$H5 [3%%35
$H-3%(&(1 -3=XN5 (14 ~%ICT3.51 2 $6.C)21%S (H -&.8&5818()&5 -3 n*; j g 55555-
2012;

_AC3L(&Q)# (1.AO(1# 3C=8%2! 1) 2 EC108D 6=1 ()#;

- AC3L(&()# j6U.

- .0AN#:,5,0 85..08,1.$+81 E1#$& "$( — =$SA[?62K)3((HD 22-26-EC!O(HD
2 _3=$14S(H5 EC1035 ) $8.[()5 CA[()L&?2)5 EC1035 M30(3D 23(T)>A.1K)) $ ! (4,
W1)8 .1656.H $ 32%[ (& 3-.&=8&(H. bH?3CH ECIO&D $ 3C5&C2I[: -3=$1%! —
3,05...4.2 5; -&.$3>3 ECIO! —3,3...4,45 5; 23 $03.3>3 -3 $&. [()& O)%H& EC10) — 3,0 5:
C&LOL&?2353 ECIO! ($ L)7C3C8) — 2,25 ) 2,3 5. bH?3C! 6=1()# 3C 3C5.0,000 =3 ~1.1-8C!
239CISHAC: 22-ECIO(3D %2K)) — 67,9 5 26-ECIO(3D %2K)) — 79,9 5 51Z)((H[
3C=8%&()D %) TC3$ (! 2.3%%& — 68,155 ) 80,15 5.

71 ECIOI[ 0)%3>3 =351 . 16581 10C2%:

-§ -3=$1%&: (1 3C5. 5)(A? 3750 — PjU, -3581&0)& =W [.1(&QO)#
%05) (&?K&(C(H[ %'5-, (1?2321 2C1(K)# [3C#D?CS&((3--)CS&$3>3 ) -.3C)$3-30!.(3>3
$3=32(1W0&()# =35! (c 1$C3(35(H5 $[3=35), CRIOLE?2)& -35818()# =W# - .32%1=2)

2355A0)21K)D, ! C120&  -35&1&0#  =$!  AGK!  ?%H#G)  («Y3($627»
) «g37Ca8235»); -35&1&(# $2C.36(3--.)2C.38((3D 1$C32C3#(2) - $&(C2!56.1,
E%§2C.31)C3$1# (! 3C5. 5)(A? 3650 — C.&('OM.(HD G!%  ($&2C)WO%S

? >1.=8.3W35, =$& .16=8$1%S(H& ? 21(AC%!5) ) 3=(3D =AZ8&$3D, =$! GI%! (1 4) 7
C.&(108&.33, C.&(&. 7214, 21 (ACEY);

- (! -&.$35 EC10& ((! 3C5. 5)(A? 0,700, 5) (A? 0,300, 5) (A? 0,400, 0,000, 0,450) —
~.3=3$3%S7C$&((HD 5!>16) (, $[3=(H& >.A--H $ O)%AO L12CS ? -35&1&()&5 3[.1(H )
235(1C3D 3C=H[! 3[.!(H, E%&2C.31)C3$3D ) ?!(AG%35 ? 5&2C35 =U# AW3.3L(3>3
Y($&(C!.# $  22-ECIO(3D  2%2K)), 3T)?H 1.3, K&C. -3 A[3=A
G =8CS5) (.16=8$1%2!, 201=3$1# Cane0&2, 53D2! CI.H, >.A--3$14, WATSC-.16=1C3L(1#,
CAIRGC(1#  =8C?21#,  ?1(AGE%  -&.23(M%!, _*U), ! C120& 1-235(IC(H&
(3 ZC.), 2-235(1C(1# (1 ZC.) ) 3-235(1C(1# (1 ZC.) 281.C).H, ! C120& $[3=(1# >.A--1 $
C.&(10&. (HD G1%.
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*9CIUS(HE .8Z&()# — W8S Y658 (&()D.

T A.3$(& G&5%) -.) $X&6=8& $ 1$C32C34#(2A (! 3C5. 5)(A? 0,500 -.8&=A?53C.&(3
1658188 3T)?! 14 (. 1W3LM# 235(1C!, $H2CI$3L(HD G1% -%311=S0 72,0 54, 235(!C!
~.)&5! -)1), 235(!1C! -§.8>3$3.3$, 21 (AGY% (?3$5&1M((HD ? 2%1=3$3D AW3.3L(3>3
) ($&(C! .#). PG 3T)?! $H-3%(&( 3=) ( E$12AIK) 3((HD $H[3-=.

U.&=A?53C.&(0 TAQK)3(1US(1# 7$#6S $2C.38&(3--.)7C.38((3D 1$C32C3#(2)
) C.&(10&. (3>3 61%! L&.8&G CISWA.-Z%0G ? -3=-3.35 $36=A[! -.) -30!.&.

7. AO(1# 3C=8%21: 2C&(H 1) 2 EC1O&D — 3Wh)K3$2! 2%) (2&. (3D -%)C23D $ 232C1$
2%.C)T)K).3$1((3D (&3&(C)%).AG53D TI1?21=(3D ?)?2C&5H «LOBATHERM P-R»
37CI%S(3& — $ ?33C$4C2C$)) ? -3%30)CEUS(H5 GI2UOL&()ES (8>37A=1.2C$E((3D
F27-&.C)GH I 2-1-1-0040-14 3C 27.10.2014.

*CIUS(HE .&Z&O# -3 O)%35A 235-%827A, $2%OL1# $(AC.&((0O0 3C=8%2A,
—.) (HCH W86 )658&(&)# .1 (&8 . 16. W3CI ((H[ -.382C(H[ .&Z&Q)D.

R(=-3. 5 «?"3-3%*, %A *$O3$31$UC %A%16-%"($**, % "38,J *$O3$31$%-
83J$*L3"<%5% %A3"/3L3%*,, /313L3%C *$O3$31$%-83J$*L3"<*J C31%/1*,8*:,
"%-310($*3 83I$%.%5*L3"<*J 13N3$* I ».

A) /%-1(=-3. «?*"83C( "h-%"$(AO3$*, »

Y3..82C).3$23D -.382C(H[ .&Z&()D -3=.16=8%! -.&=A?53C.&(3 7C.3)CanS?C$3
ALI2C21 23%SK&S$3D 26C) [36#D?CHE((3--)CSE$3>3, -.3C)$3-301. (3>3 $3=3-.3$3=! =i#
3Wg?2-8L&O)# [36--)CSESH[ ) -.3C)$3-30!. (H[ (AO= 1 3L&.&=) 2C.3)Ca%S?CH! 0)%3>3
235-08271 — «22-26-ECIO(HD O)%3D =35 ? -3=6&5(3D 1$C37C3#(23D ) $2C.3&((3
~.)7C.38((H5) (40)%H5) -3581&0)#5)». J%# 236=1()# 23%SK! ?3>%1?(3 j, .U
«03=321(1%» 1 05-11/33-4164/18-U/236 3C 30.07.2015, -.&=A?53C.&(H =$& $.&62)
d( 315 55 $ ?A1&2C$A01)E& ?26C) [36--)CSE$3>3, -.3C)$3-30!.(3>3 $3=3-.3$3=!
0600 55 ? A?2C1(3$23D 215&. ? 3C2%0OL101&D 1.51CA.3D. Y ALI?C2A -.382C).A.53>3
$(&-%311=3L(3>3  [36--)CSE$3>3,  -.3C)$3-301.(3>3  $3=3-.3$3=!  3W1&D
~.3CHO&((37CSO 269,52 54C.3$, - .8=A?53C.&(3 -3=2%0L&()& 22-26-EC10(3>3 0)%3>3
=351, U3=2%0L&()& 3?AL&2CHU#ECH 2 $$3=15) =)158C.35 225 55, - .3CHO&((37CSO
520 5 210=HD. U.32%1=21 $3=3-.3$3=3% 37A1&2C$U#ECH# 3C2.HCH5 ?-373W35.
n1.1(C).3$!((HD (1-3. $ 24C) — 25-30 5.

7. AO(HD $3=3-.3$3= -.) (#C )6 -3%)EC)%&(3$H[ C.AW U6100 SDR17-315p18,7 )
C.AW UB100 SDR17-225p13,4 ($$3=H) -)CS&$!# -3 n*;j 18599-2001 -.3)G$3=7CS$!
*Q* «Y161(S3.>?) (C&6», > YIGI(S. JV((H& C.AWH (& -3=$&.0&(H 1>.8??)$(35A
$36=4D7C$)0 >.A(C3$ ) >.A(C3SH[ $3=. J! ALI?C2& 3C Un2 =3 23%3=K! B4 $ 2$40) ?
~.32%1=23D $3=3-.3$3=! $HZ& >UAW) (H -.358.C1()# -.8=A?53C.&(3 AC&-%&()& 78C)
$3=3-.3$3=!.

g1?[3= $3=H, 3W&?-8L)$1&5HD -.382C) .A&5H5 $(&-%311=3L(H5 $3=3-.3$3=35
=t# 1 3L&.8&=) 7C.3)CRUS?CS! 232CI$UHEC:
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(! [36#D?C$6((3--)CSE$HE (AO=H — 108,650 5¢/2AC.;
(! (1.AO(3& -30!.3CAZ&()& — 25 W/?;
(! $(AC.&((&& -301.3CAZ&()& -3=685(3D !$C37C3#(2) ($ C35 L)7%&
1$C351C)L&2238) — 36,170 %/7.
b5&2C3 -.35C3$1. (3>3 51>16) (! $H-3%(&( 3T)? 1 4. b(AC.&((&& $3=3?(WO&)&
3T)?! $H-3%(&(3 3C [364D2C$&((3--)CS8$3>3 $3=3-.3$3=1 $2C.38&(3--.)?C.3&((H[
~35§1&()D, ? A?C.3D7C$35 $3=35&. (3>3 AGK! (! $$3=8 $ -3581&()& 3T)?!. b(AC.&((&
~30!.3CAZ&()& 3T)?! 1 4 (&C.&WALCPH,
b 2$#6) ? )658(&()&5 23%)L&?C$! O)C&%ED ) 615&(3D -.35C3$1. (353 51>16) (! (!
3T)?2(3& -3561&()& N 4 3C23..820).3$1(H .17[3=H $3=H (! [36--)CS&$3&
$3=32(1WOLQ)&. gI?LMC(1# LI172CS =t# $HW3.1 (1232(3>3 3W3.A=3$1()# 3?CI&C?# W8G

)658&(&()D.
b 2$#5) ? 3C2AC2C$)E5 $ %ECOD -&.)3= >3=1 K) . 2M6#K)) $ C&-U3SH[ 28CH[, =Ue#
3WE?-8L&()# C.EWAGS3D C&5-&.1CA.H 60°; $ B&?CI[ $3=3.10W3.!, -.&=A?53C.&(!

$36530(37CS ACI(3$2) (123-)CEUS(H[ $3=3(1>.8$!1C8UD A 210=3>3 -3C.&W)C&%#,
$2%0L1# -3C. &8W) C8%&D $3 $2C. 3&((H[ -3581&)#].

") S%-1(=-3. «?*"83C( "%-U%S*3-3$*,»

U.3820(3D =32A5&(CIK)&D -.&=A?53C.&(3 A?C.3D2C$3 $(&-%311=3L(3D ?%C)
WHC3$3D 21 (1%)61K)) 3C -%311=2) 2C.3)CaUS2C$! -.3842C).AG53>3 O)%3>3 =35!, =3
$.662) $ ?AL1&2C$A0L)& 21(1N)GIK)3((H& 26C) ©200 55 -3 Ah. ;I[1%) (224
P?[3=(H5) =1 ((H5) =%# -.382C) .3$! O)# $(&-%311=3L(H[ 24C&D WHC3$3D 21 (1%)G!K))
#SUHOC% CE[OL&?2)& AM3$)# (! -3=2%0L&& 2 K&(C.1%)G3$!((3D ?)?CE58
$3=33C$8=4Q)# 1 05-11/33-4164/15 3C 12.01.2015 $H=!((H5) __, U «b3=321(1%». ;4C)
WHC3$3D 21 (1%)GIK)) -.)(#CH )6 C.AW «UgQn_ Q» DN/OD200 55 (D$(200 55) )
DN/ID200 55 (D$(176 55) -3 j, 2248-001-96467180-2008. ,?2C.3D?C$3 WHC3$3D
21(1%)GIK)) $H-3%(&(3 3C2.HCH5 ?-373W35. U.3CHO&((37CS $(&-%31!=3L(3D ?8C)
WHC3$3D 21 (1%)61K)) 459,10 58C.3%. b LI172C) $(AC.)-%311=3L(H[ ?24C&D WHC3$3D
21(1%)GIK)) 3C23..62C) .33 (H =)158C.H, $H-3%(&(! -.32%1=21 )6 C.AW «UgQn_ Q»
DN/ID200 55 (D$(176 55) -3 j , 2248-001-96467180-2008.

*($3= 2C323$ 3C 3T)?! W4 -.&=A?53C.&( $ ?!153CEL(HD C.AW3-.3$3= WHC3$3D
21(1%)GIK)) 3C $72C.3&((3--.)7C.3&((H[ -3581&()D 1 262K)). b 5&2CI [ -3=2%O0L&)#][
2 515)7C.1%) ALI?2C23$ 2!1(1%)GIK)) ? C.1-15) -.8=A?53C.&(! ACI(3$2! 3W.IC(H[
2041-1(38, =Wt - .8=3C$.11&()# $36530(3>3 -3-1=1()# 20323$ $ -3581&()# -.) . 1W3C&
5&2CCHL 2! (1%)61K)3((HL (1?32(H[ AC!(3$32 C)-! Sololift.

)658(&(0)85 =)156C.3%. ;&CS =30=8$3D 2!(1%)GIK)) G6I-.382C).3$1(! )G C.AW
«JgQn_Q» -3 j, 2248-001-29292940-2005 DN 160-300 55 3W1&D -.3C#O&((37CSO
100,070 58C.3$. *C$3= 32(3$(3D LI172C) -3$&.[(3?2C(H[ $3= ? C&..)C3.)) -.366=3% )
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1$C32C3#(2)  61-.382C).381( (! .8%S&T ) =1g& $ .1(&& 6!-.382C).3$!1((AO
281 .CI%S(AO %)$(8$A0 21 (1%)GIK)O -3 =AW& . A A%. a%O[&.-.1.

5 /%-1(=-3. « 8%/.3%*3, "3$8*.,D*, * <US-*D*N$*1%"($*3 "%=-6J(,
83/.%">3"38*»

Y3..82C) .3$23D -.382C(H[ .&Z&()D -3=.16=8%! - .&=A?53C.&(3:

GI5&(! .1(&& -.8=A?53C.&((3>3 )?C3LO2! C&-%3?2('WOEO# 3C 2$!.C1%S(3D

>163$3D 23C&%S(3D (! K&(C.1%)G3$!((H& 28C) C&-%32(MWORO#, 23..82C).3%$2!

232131 3W3.A=3$!1 )4 PjU;

$ %COD -8.)3= (1>.88 $3=H (! nb; 37A18CHWHECH  &5237°C(H5)

E%62C. 3(1>. 8$1CRIHE), A2CT (3$UE((H5) A 210=3>3 -3C. &W) Ca%H;

- .8=A?53C.&4(H )65&&QO# $&(C)WHK)) 281.C).-2CA=)D: $&(C)UHK)# 28!.C).

2CA=)D ? 2A[(#5)- () Z!5) -.&=A?53C.&(! -.)C3L(3-$HCHEO(1# ? 5&[1()LE?2)5 )

82082038 ((H5  -3WAO=8()&5 - -.)C32 (! $.85# -.)>3C3$%eQO# -)1)

37AL82CSUHECPH ACI(3$23D Tion O, ) L&.8&6 2%1-1(, A?CI(3$%&((HD $ 323((35

-.3M58, $HCHO2! — 378$H5 $&(C)WHC3.35, $ 32CIUS(3& $.85# — -.)C32 -

82082038 ((HD L&.86 2w1-1(, A?2C1(3$%&((HD $ 323((35 -.3W5& $HCHO2! —

$8(C)WHC3 .35, A2C1 (3$U&((H5 $ 21 (ACYE;

- .84=A?53C.&(1 &2CE2C$E((1# ?)2C8&5! -.)C3L(3-$HCHO(3D $&(CYWHK)) )6

-3581&0)# 3[.1(H (! -&.$35 EC108&: -.)C32 — L&.86 323 ((H& 2%!1-1(H, $HCHFO2! —

~37.8=20$35 -&.4C3L(H[ .&ZNC32

Y658(&(H (16(IL&QO# -3581&()D — 3T)? 4. bHC#O2! 3T)?! $H-3%(&(!

21532C34CaUS(H5) 21 (1%15), $H$&=6((H5) (! 2.3%$%0 3T)?!.

- .382C(H& .&Z&O# -3 C&-%328C) $H=E%&(H $ 3C=8%S(H& C35! 10.108-0075-01.01-

P*;4.2 €35 542 «b(AC.)-%311=3L(H& C&-%3$H& ?§C)» ) 10.108-0075-01.01-

P*:4.3(35 5.4.3 «b(&-%31 1=3L(H& C&-%3$H& 28C)».

P2C3LO)2 K&(C.1%S(3>3 C&-%3?(IWO&()# — C&-%351>)7C. 1%S 2JAB00 _ -37 ***
«;JY». 3)85! C&-%3?2(MWOQO# - 2-[ C.AN(M#. U3=2%0L&()& $(&-%311=3L(H[
C&-Y%3$H[ 28CED 2 K&(C. 1%S(H5 C&-%3$H5 28CHS $H-3%(&(3 $ jY 37-401. U3=2%0L&)&
$(AC.)-%3LI1=3L(H[ C&-%3$H[ 786C&D $H-3%(&(3 $ C&-%3$3D 2158.& (! >.1(K&
085%&3C$3=! 1-D 3L&.&=) 2C.3)C8US2CS!. gl?L&C(H& -1.158C. H C&-%3(3?7)C8U# $ C3L24
~3=2%0L&Q)# 2 K&(C.!%S(35A C&-%3?(MO&()O: C&5-&.1CA.(HD >.1T)2 150-70°;,
17L8C(3& =1$%e )& 1,6 UYL, JI$M& ()& )?-HCI(OD 2,5 UL,

Y1C&3.)# (1=80(37C) C&-%3?(IWOR()# - .382C) . A&53>3 3WXE2C! 1.

J'=80(37CS .MW3CH ?)?C&5H C&-%3?(IWO&()# -.382C).AL53>3 3WXE2C! $
E27C.85 US(H[ AP3$)4[ ((! 2ALID 1$1.)) $ ;Hj) 3Wer-8L)$1ec? (1%)L)&5
23USKESH[ -&.85HL&2 580=A 32(3$(H5) C&-%3)?C3L()2!5) ) C&-%351>)7C. 1%#5)
>, 921C&.) (WA.>!, $36530(37CSO 3C2%OL&()# -.382C).A853>3 G=1()# $ C&-%3$3D
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21588, (461$)?)53D ?[&53D -3=2%0L&()# -.382C) .AL53>3 G=1)# 2 ; 1j. U.32%1=2!
C.AW3-.3$3=3% -3=685 (1# $ O8hECIWECI((H (&-.3[3=(H[ 2! (1%![ ) We?2! (1%S(1#.

JU# C. AW3-.3$3=3$ - .)5&(&(H We?Z3$(HE >3.#L8=8T3.5).3$! ((H& C.AWH -3 j ,
14-3-1128-2000 )G ?C!%) 09n2; $ G6!$3=723D UU, )GIWHK)) ? -3%)EC)%&(3$3D
3W3%3L23D ) ? 7)7C&53D *JY. U.3CHO&((37CS $(&-%311=3L(3D 26C) 2[0 219842 -5,
2[0 133 — 46 -.5. U.3CHO&((37CS $(AC.)-%311=3L(3D 26C) 2[0 13372 -.5.

g1?2L&C(HE C&-%3$H& (1>.AG2)

156381 Q& J&-U3$N# (1>.AG21, n21%/L

1 3L&.8=S 2C.3)CanSCS! 1,3646

U3=_16=6% $H-3%(&( -3 J, ™™ «;$&.=%3$721# C&-%32(IWO1011# 235-1()#»
I 51307-1104-12/16Y-767 3C 25.04.2016 >. 3 -.)?38=) (&)# 2 2%CH5 C&-%3?2(WOR# ?
AC3L(&()&5 3C 29.04.2016 >. ()?[. 1 51307-1104-12/248).

=) /%-1(=-3. «?38* "",=*»

Y3..42C) .3$23D -.382C(H[ -&Z&()D -3=.16=8%! -.&=A?53C.&(3:

- . 16.1W3C2!1 (3%$3>3 .16=8%! «]!.AO(H& 28C) ?$#6)» (10.108-0075-01.01-P*;5.1)

(132@33$10) §L[OL&?2) [ , 2%33$)D *** ] j I «P(C&2» 3C 23.12.2016 1 1178142.

-$ ?232C1$ -3581&()D $2%0L&(3 -35&1&()& AGKh! ?$#6) =U# 3W3.A=3$!1()#

Fxx ] 1 «P(C&2»;

-)65&(&O)& TAK)3(1%S(3>3 (16(1L&# -35818&()D3T)?! I 4,

PO#OR$21ASHI7, 12,0.20,, ,0#0+170210. U.&=A?53C.&(3  ?2C.3)C&%S?C$3
1-3C$6.2C(3D 21W%S(3D 2! (1%)6!K)), 3C 2ALE?2CSA0LED 21Wa%S(3D 21 (1%)6IK)) UQ™
«g32C8%6235». U.&=A?53C.&(1 A?2C!(3$2! 21We%S(3>3 23%3=K! YY;.-3-10 =3 $$3=! $
2C.3#1)8&2% G=1(#. U.) ?2C.3)C&%S?2C$& 21We%S(3D 2!(1%)GIK)) -.8=A?53C.&(3
)?-3%S63$1 )& [.)63C)%K&S&(C(H[ Wee(1-3.(H[ C.AW. J%# -3=2%0L&()# IW3(&(C3%
-.382C).A853D ?28C) -.8=A?53C.&(3 ?2C.3)C&%S?C$3 3-C)L&?23D 51>)2C.1%) 3C
3-C)L&?23>3 Z2IT! B 2046 (Ak.; 1[1%) (2214, 1 — A%.a%O[&.1) =3 2C.3#18&>32# 6=1 O# -3
?A1&2C$A01ED ) -.382C) .A&53D 21We%S(3D 21 (1%)6IK)). U.3C#O&((37CS 7C.3#18D7%
21(1%)GIK))  ?32CI$U#EC 438,8 5&C.3$. ;C.3)C&%S?C$3  3-C)L&?23D  51>)2C.1%)
-.84=A?53C.&(3 ? )?-3%S63$!()&5 $3%323((3-3-C)L&?23>3 2MWew# 5!.2) *Y;j
- .3C#0&((37CSO 765 54C.3%. b 6=1()), 21We%S -.8&=A?53C.&(3 61$&?C) (! 3-C)L&?2)D
(12C8((HD Z2!'T *gqg (*** 1j1 «UPY» > Y).3%). b$3= 2mest $ 6=10)&
~.8=A?53C.&( L&.&6 $(3$S 3.>1 ()GAKSHD %) (&D(HD $$3= $ -3=$1% 6=1()#, ? -.32%!=23D
21W%# -3 -3=$1%A $ Ubr-C.AW& =3 $(3$S A?2C! (1$%)$1853>3 *gq (! 2C&(&. b *gq
-.8=A?53C.&(H 3-C)L&?2)& .16$&CH)Ca%) $C3.3>3 A.3$(# g* -w!(1.(HD 1:32 ( Q*
«; $#65=8C1%S»). b2%OL&()& 612C.3D2) -.4=A?53C.&(3 $ ?A1&2C$A0L)D AG&% =32CA-! (!
Qj;, ? ACI(3%$23D ?-%)CC&.! 1.2 (! ?-%)C21?228CA, (! -%IC& GP-8. *C *gq
- .8=A?53C.&(1 -.32%!1=21 3-C)L&?2)[ 2!Wa%&D ?3 ?$3W3=(3 $H=84#&5H5) $3%32(15),
§5232CSO 16[4, 12[6, 24[6 3-C)L&?2)[ $3%323( -3 2%IW3C3L(H5 2C3#215. b 21L&2C$&
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323(BL(H[ A?C.3D7C$ -.8=A?53C.&(H 23.3W2) TYCO. b 210=3D 2$!.C).&, 3T)%,
K&(C.& -3 A[3=A 6! =8CS5), C.&(10&. (35 GI%8, $ (1732(3D -301.3CAZ&()# ) (! -37CA
3[.1(H -.8=A?53C.&(1 A?C1(3$2! (12C&((3>3 53=45! Ericsson TO73G. U&.&=1L1 =1((H[
3C j.1(?T3.51C3. (3D U3=2C1(K)) -.4=A?53C.&(! -3 3-C)L&?235A 21Weh0 PYa-_ 4U.

PG G3(H 2C.3)CaUS?CS! -.&=A?53C. &( $H(3? 28C8D .1=)3T)2!IK)).

S5"I$RIBSHI7. D(AC.&(()& 76C) .1=)3T)2IK)) — 3C G$A23A?)%)CanS(3>3
3W3.A=3$1 O)#, 23C3.3& -.4=A?53C.&(3 $ C&E&2355A()21K)3((35 Z2ITA (! -1 ECIOL.
g17-.8=8%) CAUS(H& 28C) — -.3$3=35 UbFF -3 2C3#215 =3 .17- .8=8%)C8US(H[ 23.3W32
g*]1. Y3.3W2) g*] -.&=A?53C.&(H $ 2%IW3C3L(H[ 3C?2![ ECIO(H[ 1)C23S.
QW3 (&(C?2)8 2%6C) — - .3$3=35 UjUF =3 .1=)3.368C32.

U1)30,90.)857, V8),.02257 )+7A:, +170$252#W"0210. U.&=A?53C.&(H Wk32)
E272C.&((3D ?$#0) a6;, -3=2%OL&((H& 2 =$A[-.3$3=(3D )(T3.5!K)3((3--)C!O1&D
%)()) ?$#6) K)T.3$3>3 )(CE.TE&D?! ;*;-95. a6; )(C&>.).ASC?%# $ &=)(AO ?2&CS
IP-C8%8&T3()) -.) -3531) -.3>.155H-Z%0G! SOSI5GW. U.3>.1551-Z%06 — (! Qg__
~37C1 3[.1(H. :W3. )(T3.51K)) ) C.1(2W#K)# K)T.3$H[ -128C3$ >3%323$3D 2$46) —
Wh32 23(C.3%# aYJ- . aYJ-_ -3=2%0LI&C?# 2 235-SOC&.A Qg__ -3 )(C&.T&D?A
RS-232. a%32 E27C.&4((3D $)=837$#G) abb; -3=2%0L1&C?%# 2 Qg__ -3?2C! 3[.!(H
21W8%85 Y ; UD.

)25 $)=83(1W%0=8)# — 23(C.3%S $[3=3% ) -3=&5(H[ !$C3?2C3#(32,
? -§.8=1L&D )G3W.10&()D (! Qg__ -37C! 3[.1(H. J%# 0)%3>3 =35! — $)=432158.H
BEWARD «B-910-K12» A%K)L(3>3 )?-3%(&QO#. J%# -3=G&5(H[ !$C32C3#(32 —
2A-3%S(HE  1(C)$!(='%S(H& IP $)=832158.H «MDC-8220VTD». U3=2%0L&()&
$)=83215¢8. -.4=A?53C.&(3 L&.86 2355ACIC3. (! 16 -3.C3$ «DGS-1016D» 21Wehe5 FTP.

X1),0(5 "$($R$22$& )+7Al. U.&=A?53C.&(! (! 3W3.A=3$1()) VIZIT» (?%.)#
300). ]! SH[3=(H[ =$&.#[ -.&=A?53C.&(H Wn32) $HG3$! «abJ-342 (R)»,
E%82C.351>()C(HE  6152)  «VIZIT-ML-400», 2(3-2) S$H[3=! «EXIT-300M»,
JSA[2C3.3((## ?$4#6S ) 3C2.H$!()& 61523 -.8=A?53C.&(H -.) -3531) Wk323$
A- I$UEQO# «@,J-302_». b 21L&72C$& A?C.3D2C$ 2355ACIK)) -.8=A?53C.&(H Wk32)
«@Y-100_ ». an32) A-.1$%QO# «a,J-302_» ) Wh32) 2355ACIK)) «aY-100 »
- .8=A?53C.&(H $ 210=3D E%&2C.31)C3$3D 2%2K)) (! -&.$35 ECIO& b 2$!.C).![
- .4=A?53C.&(H -&.8>3$3. (H& AC.3D72C$! «, YU-12_ ».

b&.C)21%S(1# .16$3=21 — 21We%E5 jUUEU $ C.AW& Ubr 3C W323$ 2355ACIK)) =3
23.3W32 CEWET3((H[ .!7-.&=8%)CewS(H[, -.8=A?53C.&((H[ (! 2'0=35 ECIO& $
WIWIC3L(35 2C3#26. QU3 (&(C?21# .16$3=21 —-.3$3= Y ;Ub $ -3%A $ Ubr-C. Al&.

J%# _n] -.&=A?53C.&(3 '$C351C)L&?23& 3C2.H$!()& =$6.&D -.) -3531)
~.)$3=3$ «DITEC Wel-E» 2 =$&. (H5 =3$3=L)215. J%# $HG3$! -3531) _ n] =Y# 3T)?!
1 4-.8=A?53C.&(! We?-.3$3=(1# 2)2C85! $HG3$! -3531) R-Call.

U1N)30,90.1A5HI7 #IR,$+ ! 12E020.288$ $?$.N"$+5217 — - _&=A?53C.&(!
(! ?)2C858 «;-1D=8.». ;)?C&5! 3WE?-EL)$1EC (&3W[3=)5H& TA(2K)) =%# (3.5!%S(3D
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JW3CH %)TCY; 2)>(1%)GIK)O ) .IW3CA -.) I$I.)D(H[ ALI#[; =$A[?C3.3((00
>.3523>3$3.#1A0 2$46S, $ C35 L) %8 =Wt 51%353W)US(H[ >.A-- (128%&()#; Wh32) . 3$2A
=$8.8D ) $H=ILA ?)>(1%! (! =2OA.(HD -A(2C; W3. )(T3.5!K)) 3 .!W3C& ?)?C&5H;
23(C.3%S G(IL&OD ) -1.158C.3%; =)CI(K)3((3& A-.1$%8(0& )(O0&(&.(H5
3W3.A=3$1()85.
X1),0(5 3$E5.2$& )1825#1ASHIT. U.&=A?53C.&(! (! 3W3.A=3$!()) QUU

« 1208.» (*** «;)?C&5H -30!.(3D WEG3-12(37C)»). ;)?CE5! 1=.82(1#. 6%E5&(CH
580=A ?23W3D ?3&=) (&(H -3 )(C&.T&D?A RS-485. b ?)7C&5A $[3=)C: -AUSC )(=)2!K))
« 12C8.-1»_3; = )W3.H -.)8&5(3-23(C.3%S(H& -30!. (H& A-.18%&()# « 17C&.-08,

« 17C&.-16»;  _16$6C$)C&%) ) (C&.TED?! RS485. b 21L&?C$&  )GH&IL'C&%&D
-.6=A?53C.&(H: )G$&11C&%) -30!'.(H& =H53%H& «PU 212-41 »; -30!'.(H& .AL(H&
«PUg 513-10»; -30!. (H& C&-%3%H& «PU 101-1Q-Q1»; 1$C3(35(H& =H53%H& -30!. (H&
)G$&L1C&%) «PU 212-50  ».

b C.1(?T3.51C3.(3D -3=2CI(K)) -.&=A?53C.&(! 3[-1((3--30.(1# D)>(1%)GIK)#,
? -.)58(&0)&5 )GHLIC&NED -301.(H[ =H53$H[ «PU 212-41 », )G$&IL!C&%&D
-30'.(H[ .AL(H[ «PUg-513-10» ) )G$&L!'C&%&D 3[.1((H[ 5'»>()C323(CI2C(H[
«P*-102-20/a2 Ux.

Qu&DTH-21We%S 3>(&?C3D2)D ? ()62)5 =H53- ) >163$H=%6(E5 Yq; (C (Q)
FRLS. P(C&.TE&D?(M# %) OQ#—-YU ;6 (> (Q) FRLS.

X1),0(5 $3$+0=>02!7 $ 3$E5.0. J%# O)Y%3D LI?C) - 1 C)- 3-3%&1L&()#.
b?C.3&((H& -3581&# O)%3>3 =35! — 3 0)- 3-3%&1L&)#. U35&1&)# -3=6&5(3D
1$C32C3#(2) —3 C)- 3-3%1.8#.

;- IWICH$TO& ?)?C8&5H 3-3%81&()# -.8&=A?53C.&(3 -3 =$A5 =H53$H5 )%)
C&-%3$H5 -30!.(H5 )CRELICLU#5, )H%) -.) ?.IWICH$!()) )GHL!IC&%# .AL(3>3.
b -3581&0#[ 0)%3>3 =35! ) 3T)?(H[ -35&1&O#[ - 3-3%&1!C&%) -30!.(H&
235W) () -381 ((H& ?38C3-GPA238H& «  1#2-12YU». ! -ACH[ E$I2AIK)) — 3-3$&11C&%)
?288C3$HE  « 3%W(O#-12 n.1(=» «bH[3=». b K&(C.& -3 A[3=A 6! =&CSH),
-.3=3$3%S?C$&((35 5!>16) (&, C.&(1OM. (35 G!1%& ) -3=6&5(3D '$C372C3#(2& — .&L&SHE
3-3%881.1C&%) «;3(ICI-,») 3-33811C&%) ?$&C3BH& « 3% (D#-12 n.1(=» bH[3=.

QuDTH — 21We%S 3>(&?C3D2)D ? ()62)5 =H53- ) >163$H=8%8()&5 YU ;6 (> (Q)
FRLS.

X1),0(5 8%2, .$#7 3.0+=20217 8%$2H02, .5H!! X[. b -3=6&5(3D !$C3?C3#(2¢&
-.6=A?53C.&(1 ?)?C&5! 23(C.3%# -.&=C%S(3 =3-A?C)53>3 A.3$(# 23(K&(C.IK)) ;*.
U.&=A?53C.&(H ?CIK)3(!.(H& 5(3>321(1S(H& ?)>(1%)GIC3.H =%# )G65&.&Q#
?23=6.01Q# 32?)=! AW&.3=! (;%*) «6;;Q-;*/16» U.) -.&$HZ&()) =3-A?C)5H[
(L&D -.&=A?53C.&(! $H=ILT 2)>(1%! (! G1-A?2 ?)?C&5H 3WL&3WS&((3D $&(CYN#K)).
b "ALI& -301.1, -.)3.)CC (! 3C2%0L&()& 3WL&3W5&((3D $&(C)U#K)) — 3C
1$C351C)L&?2) [ $H2%OL 1C&%E&D.
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X1),0(5 5+,%(5,1A5HIT  "=($N"5#0217. U.&=A?53C.&(3 =)?C1(K)3((3&
) !$C351C)L&?23& A-.1$%&()& =%# O)%3D ?€62K)). Q$C35!1C)L&?23& — -3 ?)>(1%A
«U30!.» 3C UUYU), « 172C&.-02». J)?C1(K)3((B& — ? UP), « 172C&.-I»_3,
-3?7.4=7C$35 2%OL! Touch Memory, 3C 2(3-32 ) .AL(H[ )G$&11Ce&%eD (! -ACH[
E$I2AIK)). U3 2)>(1%A -.&=A?53C.&(3 A-_1$%&()&: 3C2.HC)& 2%!1-1(3$ =H53A=1%&()#,
(! Z21T A-_18%8QO# $&(CY%#C3.15) =H53A=1%&()#, -.)C3L(3-$HCHO(3D $&(CY%#K)),
A- 1% (O# %) TC5).

JW#  -3=G&S(H[ '$C37C3#(32 -.&=A?53C.&(3: =)?2CI(K)3((3& A-.1$%8(&
-.3C)$3=H5(3D $&(C)U#K)&D ? UP), « 172C&.-I»_ 2, -3?.4=2C$35 2%OL! Touch
Memory, 3C 2(3-32 ) .AL(H[ )G$&1!C&%8&D (! -ACH[ E$I2AIK)); !$C351C)L&?23& —
-3 ?7)>(1%A «U30!.» 3C UUYU) , « 17C&.-16». U3 ?)>(1%A - .&=A?53C.&(3 A-.1$%&()é&:
3C2.HC)& 2%!1-1(3% =H53A=1%&)#, (! Z2!'T A-_1$%& () # $&(C)%#C3.15) =H53A=1%8()#,
(1 G12.HC)& -.3C)$3-30! . (H[ ZC3., (1 Z2ITH A-_1$%8()# $HC#O (3D $&(C)%#K)ED, (!
-.)$3=H 3C2_.H$!')#323( $ .15-&. YIW&%S — (>FRLS.

X1),0(5 5+,$(5, ASHI1 +$°72805 3$E5.$,NZ0217. J%# O)%3D LI7C):
- .&=A?53C.&(3 1$C351C)L&?23¢&, =)?CI(K)3((3& ) -AL(3& A-.1$%&()&. U.) 3C2.HC))
-301.(3>3 2.1(!, -.&=A?53C.&(! ?.1W3C2! )G$&L1C&%# -30!.(3>3 .AL(3>3 «PU-,*;-
2Y5» ? -3?7CA-%&()&5 ?)>(1%! (! UUYU), « 12C&.-16». U.) ?.1W3C2& ?)>(1%)G!IC3.!
-3C321 0)=237C) «VSR-EU», -.8=A?53C.&( ?2)>(1% (! UP), «_17C&.-I»_3) (1 Z2IT
A- 18086 (O)# 61=$)0215). b ?7%AL!& (&$H[3=! 3?(3$(3>3 (1?3?1 (1 .IW3L)D .&0)5,
- .&=A?53C.&( GI-A?2 _&G&.$(3>3 (173?1. Y3(C.3%S ?3?C3#(# .IW3CH (1?3?33
-.&=A?53C.&( (1 UUYU), « 172C&.-8», ? -&.&=1L&D )(T3.5!K)) (! UP), « 17C&.-
I»_ 3.

J%#  -3=G&S(H[  '$C372C3#(32 -.&=A?53C.&(!  ?2)?2C&5!  ?2-.)(2%&.(3>3
-30!1.3CAZ&()#. Q$C351C)2! -.&=A?53C.&(! $ C.&[ .&O)5![: 1$C35!1C)L&?2)D, -AL(3D,
=)?2CH(K)3((HD. U.) $?2.HC)) 3.3?)C&%#, ?.IWICH$!()) .AL(HL )%) =H53$H[
-301_(H[ )G$&1!1C&%&D, ?.IWICHS$!LC ;J, AGW! A-.1$%&e(# ) -3?2CA-1&C D)>(1% (!
UUYU), « 1?2C&.-16», (! UP), « 1?2C&.-I»_ 3, (1 Z2IT A-.1$%&(# 61=$)023D.
;&C) 1$C35!1C)GIK)) — 21WenS (>FRLS. g&6&-$(3& -)CI(Q& ?)?C&5H 1$C35!1C)GIK)) —
«;21C-12_ » ? QYa 12QL.

U.362C(1# =32A5&(CIK)# ?73=6.0)C .&Z&Q# -3 7?C.3)C&%S?C$A 21We%S(3D
21(1%)GIK)) =%# -.32%1=2) b*Y ? K&%SO -.)?3&=)(&()# O)%3>3 235-%&2?! 2 ?&C)
-&.&=1L) =V((HL *** 13 1 «P(C&2»; 7C.3)C&%S?CHA (3$3>3 AG%! -&.&=1L) =T ((H[ ?¢C)
HG) *** ] 1 «P(C&2».

*C ?A18&?C$A01ED 3-C)L&?23D 5ATCH *** Jj 1 «P(C&2» (! 3-3.& 3?$81&#
I 1 $=3%S A%. a%O[&.!, -.32%!=23D 3-C)L&?23>3 21We%# 8*b 51.2) *Y; =3 $$3=!
$ -1.2) (> O)%3>3 235-%8&2?1 ? )?-3%S63$! ()&5 -.3&2C) .A&53D 21Wa%S(3D 21 (1%)GIK))
) $$3= 3-C)L&?723>3 21Wa%# $ -.3&2C) .A&SHD AG% ?$#6) $ -3581&()) ?2&-%&.(3D
(! 3C5. -3,750. U.362C).AeSM# 2mWesnS(t# 21(1%)GIK)# )G C.AW U]J/UbJ - 110
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3C 3-3.H 378618Q)# N 1 -.8=A?53C.&(! ? =$AS# 21We%S(H5) 23%3=K!5) YY;2.
b -3581&()) 7$#6) -.8=A?53C.&( 5&CIWH)LE?2)D Z2!T 12U ) 3-C)L&?2)D 2.3?? C)-!
Yg:-16 =% $$3=1 ) .172%0L&()# 2Wek# 7$#6). U.3CHO&((37CS CE%ET3((3D
21(1%)GIK)) 86,0 5, -.3CHO&((37CS 21W8%S(3D %) ()) 200,0 5.

U3=.16=8% $H-3%(&( -3 J , *** ]j 1 «P(C&2» 3C 23.12.2016 1 1178142,

R(=-3. 7 «Q1%3<8 %15($*=(D** "81%*83.6"8" (»
U.) 23..620).3$2& $ -.382C(H& .&Z&QO# .16=8%H $(&2%&(H ?%8=A01)&
Y658 (& #:

- )65&(&(3 23%)L&?C$3 EC1-3$ 2C.3)CaUS2CS!;

- 3023..8420).381 (! 3.>1 ()6IK)3((3-C&[(3%3>)LE?21# ?[&5!;

- 3023..842C) . 38! (3 23%)L&?C$3 5!12) (3-587C $ -3=685 (3D 1$C37C3#(2%;

- =3WI$%&( (3$HD >. 1T)LE?2)D %)7C 23 2C.3)CE%S2C$35 2...4 ECI-33.

-C.3)CA%S2C$3 372AL&CHUHECH $ 4 ECI-1.

-1 ECI- — 2C.3)Ca%S?C$3 2-282K)3((3>3 0)%3>3 =351 -&.85&((3D EC!O(37C) (1 1
~3 U ,) 73 $2C.38((3--.)7C.3&((H5) (&0)%H5) -35818&()#5) 3WL&2C$&((3>3
(6(IL&O# (15 -3 U ,), 73 $2.38((3--.)7C.3&((3D -3=685(3D 1$C32C3#(23D
(12 -3 U ,), 6=1()8&5 3T)?! (R4 -3 U ,), -.)72C.38((3>3 2 .15-& $X&6=!
$ ~3=685(A0 1$C32C34#(2A (13 -3 U ,), C.1(?T3.5!1C3. (14 -3=2C1 (K)# (1 6.1 -3

u.,)

-2 ECI- — 3C=8%3L(H& .MW3CH, 53(C!O0 )(0&(&.(3>3 ) C&[(3%3>)L&?23>3
3W3.A=3$1 )# -35818&()D -.3=3%$3%S2C$&((3>3 51>16) (! (R5-3 U ,);

-3 ECI- — 3C=8%3L(H& .MW3CH, 53(C!0 )(0&(&.(3>3 ) C&[(3%3>)L&?23>3

3W3.A=3$1 O# -35&1&(D C.&(1ON. (3>3 61%!;
- 4 ECI- —7C.3)Ca%S?CS3 . 17— . &=8)CanS(3>3 ~A(2C! (16.2-3U ).
1 V,53. g'W3CH 3?7(3$(3>3 -&.)3=! -3=.16=8%#0C?% (! 5 C&[(3%3>)L&?2)[
235-18223$:
1235-%82? — . W3CH -3 $36$8=6() O -3=685(3D L!7C) 0)%3>3 6=! ()#;
2 235-%§2? — . IW3CH -3 $36$8=&() O (1=685(3D L17C) 0)%3>3 6=! ()#;
3 235-%2? — .MW3CH -3 $36$4=8()0 23(?C.A2K)D -3=6&5(3D LI2C)
1$C32C3#(2), 7C.3)Ca%S2C$3, j U;
4 235-%82? — .IW3CH -3 $3686=6()O (!=685(3D L17C) $2C.38(3--.)?C.3&((H[
(80)%H[ -35&1&()D, 1$C3-1.23$2), $&(CZ! [C;
5 235-%82? — 3C=3L(H& ) ?-8K)I%S(H& .'W3CH (2.35& -3581&()D
~.3=3$3%S2C$&((3>3 51>16) (1) C.&(10M. (3>3 G1%!).
2V, 53. gIW3CH -3=. 16=80#0C?# (! 3 C&[(3%3>)L&?2) [ 235-%8221:
1 235-%82? — 3C=8%3L(H& . 'W3CH -3581&()D -.3=3$3%S?C$&((3>3 5!>16) (!;
2 235-%§2? — 53(C10 $(AC.&(O[ ) (0&(&. (H[ ?)?C&5 ) 28C8D;
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3 235-%§2? — 53(C!O C&[(3%3>)L&?23>3 3W3.A=3$1()# -.3=3$3%S2C$&((3>3
51516) (1.
3V, 53. gIW3CH -3=. 16=80#0C?# (! 3 C&[(3%3>)L&?2) [ 235-%8221:
1 235-%82? — 3C=8%3L(H& . 'W3CH -3581.&()D C.&(1OM. (3>3 G1%!;
2 235-%§2? — 53(C10 $(AC.&(QO[ ) (O&(&. (H[ ?)7C&5 ) 28C8D;
3 235-%§2? — 53(C10 C&[(3%3>)L&?23>3 3W3.A=3$1 O)# C.&(1OMN. (3>3 G1%!.
4V, 53. gIW3CH -3=. 16=8%#0C?# (! 3 C&[(3%3>)L&?2) [ 235-%827!:
1235-%82? — . W3CH -3 $36$=6() 0 -3=685(3D L!7C) gU;
2 235-%§27 — . IW3CH -3 $36$8=&() O (1=685(3D L17C) gU;
3 235-%82? — 3C=8%3L(H& .IW3CH, -.32%1=21 ) $$3= $ 6=1()& )(O&(&- (H[
28C8D, 53(C10 C&[(3%3>)L&?23>3 3W3.A=3$! O#, $$3=$ E27-%AICIK) O gU.
gW3CH 2 ECI-1. b36$a=8()& 23(?C.A2K)D -.3=3$3%S?2C$&((3>3 5!1>16) (!
$H-3%(#8C# - .) 7C.3)Ca%S2C$& 1 ECI-1. 1 1 EC1-& 2C.3)Ca%S2CS! $H-3%(#OC?# $$3=H
$ -3581808& 511! $(AC.&(QO[ ?26C&D  C&-%32(MWORQ#, C&-%32(TWOLO#,
E%g2C.32(MWO&OH, $H-A?23$ 21(1%)GIK)). Y S$(AC.&(()5 3C=8%3L(H5 .1W3C!5
51>16) (! -.)?CA-)CS -37%%& ?=1L) $ E22-%AICIK)O 1 ECI-! 2C.3)C8%S2C$! ) AC3L(EQ#
? 23WC$6(()235 -3581&()D .IW3LE&D =32A5&(CIK)) -3 ?37CISA CE[(3%3>)L&?23>3
3W3.A=3$10# ) C&[(3%3>)) C3.>3%%). *We?-8L&()& 7C.3)CE%S(H5) 51C&.)1%15),
=37C1$21 3W3.A=3$1 O# (! 2 EC!-& 37AL&2CUHECH L&. &6 . 16>. AG3L(AO .15-A51>16) (1.
gIW3CH 3 ECI-!. b36$8=&()& 23(?C.A2K)D C.&(1OM.(3>3 Gl%! $H-3%(#ECH -.)
2C.3)C8%S?C$& 1 ECI-1. J! 1ECI-& 2C.3)CanS?C$! $H-3%(#OC?# $$3=H $ -3581&0)&
C.&(TOM.(3>3 Gl $(AC.&(OQ[  28C&D  C&-%3?(WO&QO#,  $3=32(WOLQ*,
E%g2C.32(MWO&OH, $H-A?23$ 21(1%)GIK)). Y S$(AC.&(()5 3C=8%3L(H5 .1W3C!5
(&3W[3=)53 -.)2CA-)CS -37%8 ?=1L) $ E27-%AICIK)O 1 ECI-1 2C.3)C8%S2C$! ) ACSL(&)#
? 23WC$6(()235 -3581&()D .IW3LED =32A5&(CIK)) -3 ?37CISA CE[(3%3>)L&?23>3
3W3.A=3$1 OH#.
gIW3CH 4 ECI-1. ;C.3)CawS?C$3  .17-.8=8%)CE%S(3>3 -A(2C! $H-3%(HEC?H
(! =$3.3$35 -.37C.1(2C$& ?=1((3>3 $ E2?7-%AICIK)O 0)%3>3 =35! ? 3.>1()G!K)&D
3W323W0&( (3D -%311=2) ? $X&6=35 (! (&& ? A%. Y15L1C?23D.
_ 3(C10 Wn323$ 61$3=723D >3C3$(37C) (! TA(=!5&(C(AO -%)CA $H-3%(HECH
? - .)5&(&()&5 1$C353W)%S(3>3 2.1 (1.
532 (ILM%! ) 323(LIQ# .W3C -3 3?2(11&00 -.3=3$3%S7C$&((3>3 5!1>16)(!
) C.&(1OM.(3>3 G1%! )(O&(&. (H5 3W3.A=3$1()&5 ) C&[(3%3>)LE&?2)5 3W3.A=3$1()8&5
ACBL(H#EC?# 2 AL12C()215) =3%8$3>3 2C.3)Ca%S?C$! =1((H[ -3581&()D. ;.32 $$3=!
$ E22-%AICIK)O  .17-.8=8%)C%S(3>3 -A(2C! G!$)?)C 3C -.3=3%0)C8%S(37C)
2C.3)Ca%S?CS! -37%6=A01) [ 3L&.&=8D 0)%3>3 235-%82?1, 3W%A0)$1&53>3 =1 ((H5 gU.
UT. 1%%6%S(3 $ —.8&=8%I[ 2.32! 2C.3)C8U%S2C$! 0)%3>3 =351 ) -3=685(3D !$C37C3#(2)
$8=MCH# 2C.3)Ca%S?CS3 1$C3=3.3>), (1.AO(H[ 28CED ?$#G), E%&2C.)L&?2)[ 24CED, 26C&D
21(1%6)61K)), (1. AO(H[ C&-%3$H[ 24CeD.
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J%# - .3)6$3=7C$! . IW3C 1 ECI-1 -.) (#C3 88 L&3$82; 2 ECI-1 — 8 Lan3$82; 3ECI-1 —
8 L8%3$82; 4 EC1-1 — 3 L&%3$82!.

U3C.&W(37CS $ E%&2C.3E(.>)) =%# 1 ECI-1 — 23861 2bC. U3C.&W(37CS
$ EW82C.3E(&.>)) 3WE2-8L)$IEC?H %) ()&D $.85&((3>3 EE2C.3?(MO&()# Y jU-400.
g1?7[3= $3=H: (! -.3)6$3=2C$&((H& (AO=H — 0,19 W?; (! [36#D?C$&((3-WHC3$HE
-3C.8W(37%C) — 0,066 W?. b3=! =W# -.3)6$3=2C$&((H[ ) [36#D?C$&((H[ (AO=
~.8=A?53C.&(! -.)$36(1# — M5237CS 3WXN535 5 Se. *We?-&L&()& $3=3D (! [36-WHC3$HE
(AO=H .W3CIOL)[ — -.)$36(3D WAC)%).3$!((3D $3=3D. U3C.&W(37CS $ $3=8
(! -301.(H& K&%) — 10 %?. U.3C)$3-301.(3& $3=3?(!WO&()& 3?AL&CHIHECH
3C 2 -301.(H[ >)=.'(C3$ -37C3#((3D ?76C) $3=3-.3$3=!, -32C.3&((3D =3 (IL!%!
2C.3)CEUS(HI . IW3C.

U3C.&W(37CS $ E%§2C.3E(&.>)) =W# 2 EC!-1 — 325 2bC. U3C.&W(32CS $
E%82C. 3E(&.>)) 3WE2-&L)SIEC?4 %) ()&D $.8&58((3>3 EW&2C. 32(TWOR()# Y j U-400. g1?[3=
$3=H: (1 -.3)6$3=2C$&((H& (AO=H — 0,03 %/?; (! [36#D?C$E((3-WHC3$HE -3C.&W(37C) —
00073 %/2. b3=! =W -.3)6$3=2C$&((H[ (AO= -.&=A?53C.&(! 3C ?)?C&5H
$3=3?2(W0&)# O0)%3>3 =35! (K1 -3 U ,). b3=! =w# [364D2C$&((H[ (AO=
~.8=A?53C.&(! -.)$36(1# — M5237CS 3WXN535 5 Se. *We?-&L&()& $3=3D (! [36-WHC3$HE
(AO=H .1W3C101)[ — -.)$36(3D WACH%) . 33! ( (3D $3=3D.

U3C.EW(372CS $ E%E2C.3E(&.>)) =%# 3 ECI-! — 325 2bC. U3C.&W(37CS
$ EW82C.3E(&.>)) 3WE2-8L)$IEC?# %) (&D $.858&((3>3 EE2C.3?(MO&()# Y jU-400.
g1?7[3= $3=H: (! -.3)6$3=2C$&((H& (AO=H — 0,03 W?; (! [36#D?C$&((3-WHC3$HE
~3C.&W(37C) — 0,0073 %/?. b3=1 =# - .3)6$3=2C$&((H[ (AO= -.8&=A?53C.&(! 3C ?)?C&5H
$3=3?2(W0&Q)# O0)%3>3 =35! (K1 -3 U ,). b3=! =w# [364D2C$&((H[ (AO=
~.8=A?53C.&(! -.)$36(1# — M5237CS 3WXN535 5 Se. *We?-&L&()& $3=3D (! [36-WHC3$HE
(AO=H .1W3C101)[ — -.)$36(3D WAC)%) . 3$! ( (3D $3=3D.

U3C.&W(37CS $ E%§2C.3E(&.>)) =W# 4 ECI-! — 24 2bC. U3C.&W(37CS
$  E%E2C.3E(E.>)) 3WE?-&L)$IECH WD  $.856((3>3  EE2C.3?2(1W0&()#  3C
2A182C$A018>3 0)%3>3 =351, g1?[3= $3=H: (! -.3)6$3=2C$&((H& (AO=H — 0,078 %/?: (!
[36#D2C$&( (3-WHC3$HE -3C.&W(37C) — 0,003 %/2.b3=! =%# -.3)6$3=2C$&((H[ (AO=
~.8=A?53C.&(! 3C ?)?C&5H $3=3?(1W0&()# 0)%3>3 =35! (N1 -3 U ,). b3=! =
[36#D2C$&((H[ (AO= -.8=A?53C.&(! -.)$36(1# — M5232CS 3WXN535 5 5. *We2-8L&()&
$3=3D (! [36-WHC3$H& (AO=H .W3C1OL)[ — -.)$36(3D WACH®) .3$! ( (3D $3=3D.

J . GWARS1# ~%311=S WHC3$H[ -3581&()D WEG ALNMC! AW3. (H[ ) -3581&0)# 3[- 1 (H:
=0 1 EC1-1 2C.3)C8%S?C$! — 116,0 50; =U# 2 EC1-1 2C.3)C&%S?CS! — 20,2 54; =U# 3 EC!-!
2.3)Ca%S?C$! — 20,2 5i; =W# 4 EC1-1 2C.3)CE%S?C$! — 16,2 5. j.QWAGS!# -%31!1=S
AW3. (H[: =%# 1 ECI-1 2C.3)Ca%S?C$! — 5,7 5d; =# 2 ECI-1 2C.3)Ca%S?CS! — 0,64 50; =W# 3
ECY-12C.3)C&%S?C$! — 0,64 50; =U# 4 EC1-1 2C.3)Ca%S?C$! — 0,67 5. g16561&()& >3.3=2!
2C.3)C8%ED ? C.&WAE53D -%311=SO WHC3$H[ -35818&()D 1 ECI-! -.8=A?53C.&(3 (!
C&..)C3.)) 72C.3D-%31!=2). gl65&1&()& .MW3C!O1)[ 2 ECI-! -.8=A?53C.&(3 $
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-3581&()) -.3=3$3US2C$&((3>3 5!>16)(! -32C.3&((3>3 O)%3>3 =35!. gl6561&()&
JIW3CIO1)[ 3 ECI-! -.8=A?53C.&(3 $ -35&1&()) C.&('OM.(3>3 Gl%!. gl65&1&()é
W.)>1=H 2C.3)C&%8ED (! $.8&5# -.3)6$3=7C$! . IW3C 4 ECI-1 - .&=A?53C.&(3 $ 1$C353W)%é-
$1[C3$26, 3W3.A=3$! ((H5 $2C.3&((H5 W)3CAI%EC35. U3C.&W(37CS $ $3=8 (! -301. (H&
K&%) ?37CI$U#ECI0 %2, U.3C)$3-301.(3& $3=32(IWOE()& 37A1&CHUH#EC?H 3C 2
_301.(H[ »)=.1(C3% -3?2C3#((3D 76C) $3=3-.3$3=1, -372C.3&((3D =3 (IL!%!
2C.3)CEUS(HI . IW3C.

U.3=3%0)Ce%S(372CS  7C.3)C8%S?C$!: 1 EC!-! — 201 5&2., $ €35 L)?&
~3=>3C3$)C8%S(HD -&.)3= 1,5 582.; 2 ECI-1 — 4,0 5§2.; 3 EC!-! — 1,0 5§2.; 4 EC!-1 —
025 587 ;.32 $$3=! $ E27-%AICIK)O .17-.8=8%)CauS(3>3 -A(2C! 61$)?)C
3C -.3=3%0)CaUS(37C) 7C.3)CaUS?CH! -37%8&=A0L)[ 3L&.&=D O)%3>3 235-%82?1,
3W2%A0)$1853>3 =1 ((H5 gU.

R(=-3. 9 « VV31U%/1*, 8%, /% %A3"/3L3$*P /%O (1$%: A3=U/ ("$%"8*»

J17C3#1)5  GI2HOL&()E5  .12751C.)$IEC%  23..82C).3$21  —.382C(3D
=32A58(CIK)) $ L17C):

- =8.&-%1().3%2) 2$!.C). $ 3?#[ 8-14, m-U (1- ) 2-235(IC(1# 2$!.C) . ! 3wWX&=) (&(H
$ 3-235(1C(AO).

- ~8.&(371 $36=A[36!W3. (3D Z![CH C.&(108&. (3>3 61%! -3 32) I § -.)#532;

- )22%0L&()# =3-3%()CAUS(H[ ZAS36! 1)C(H[ -&.8>3.3=32 $ 2A[ (#[ 0)%3>3 =351

- )22%0L&()& ~301 . (3D (1232(3D 1$C37C34(2):

_$2HOL&(O)# $ 737C1$ -3541&()D -3=$1%S(3>3 ECIO! 0)%3>3 =351 $2C.3&((H[
-3581.8()D AG%3$ ?$#6) «g3?7C8%&235» ) «Y3($&2?»;

-)65&80# TAK)3(1%S(3>3 (16(1L&O)# $7C.38((3--.)7C.3a((H[ -3581&()D
121- 1272 -.35C381. (353 51>16) (! (! 3T)?:

S$2%OLEQO# $ 23701 -.362C(3D  =32A5&(CIK))  $(&-%311=3L(H[ ?8C&D
C&-%3?(IWO&()#, $3=3?(IWO&()#, $3=33C$e=8)# $ ?$#C) ? GI12%0OL&()&5 =3>3%$3.3%
CRL(3%3>)L&22353 —.)238=) (RO

_ACBL(RO# CRIOLE?2) [ -4Z&OD $(AC-&(O[ ) (O&(&- (H[ 28D ) 1. [)C&2CA. (H[
828 Q)D:;

- ACL(&Q)# 23%)La2CS! ) 237CIS$! EC1-38 2C.3)CR%S?CS! O)%353 =351,

bGI5&( 51>16) (! -.35C3$1.H -.4=A?53C.&( 3T)? B4 261221 TA(2K)3(1%S(3D
~301.(3D 3-17(37C) 84.3, ? -%311=S0 (17C.3D2) 398 5d, 3WLED -%31!=SO G=!()#
142,6 52 ) -%311=S0 -3581&()# 138,22 51. *T)? B4 -.)2C.3&( 2 .15-& 13C37C3#(2)
) $H=8%&((HD $ 3C=8%S(HD 2C.3)C&%S(HD 3WXN5. ;3 2C3.3(H =AWM. ! A%. a%O[&.1 3T)?
)588C ?1537C3HCEUS(HD $[3=, 3W323W&((HD 3C 0)%3D L17C), ) 235-%82? -3=23W(H[
-35§1&()D. PG .IW3L&3 -3581&()# 3T)?! 04 -.&=A?53C.&( 3=)( E$I2AIK)3((HD
$H[3= L&.&6 $H?CI$3L(HD 61%. bH?CI$3L(HD 61% 3T)?! 14 )588C 3=) ( E$I2AIK)3((HD
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$H[3= Z).)(3D 1,34 5. gI?2C3#()& )6 %OW3D C3L2) $H?CI$3L(3>3 GI%! =3
E$12A1K)3((3>3 $H[3=! — 5&(&8& 30 5.

;C.3)C8%S(HD 3WXM5 3T)?! B4 — 684,0 5e. b(AC.&((&& -301.3CAZ&()&
(& C.&WAGC?#. g12LMC(HD . 1?[3= $3=H (! (!.AO(3& -301.3CAZ&()# — 10 %/2.

)75 bJ3.1 — $H[3=)C (! 2 5 $HZ& 2.3%%) -.)?C.3&((3>3 3T)?! 14
(-.)2C.36(1 2 3T)?A N4). Ju# &?2CE2C$E((3>3 -.3$8C.)$T(O# C3.>3$H[ G!%3$
-.3=3$3uS20$8((3>3 5I>I6) (I ) $HCIS3L(3>3 Gl 3T)?! B4 -.) -301.8
=3-3%()CaNS(3 $H-3%(&(H T.15A>) $ $)C.1I0I[ ? .17-3%30&()&5 $6.[(&D 2.352)
(& 008 255 (2,95 -3 -.382C(3D =32A5&(C!K))) 3C A.3$(# -3%!, Z).) (3D (& 5&(&
0245 (1 15 =%)(H (1.A0(3>3 3>.10=6)# -3581&()# -.) 5122)51%S(35 .122C3#())
3C &3 $(AC.&(O[ 3>.'0=2()D (& W3%&& 20 5 (89 5 ) 11,2 5 -3 -.382C(3D
=32A58&(CIK)) ?33C$4C2C$6((3). ).)(! T.15A> =W# -.338C.)$1O# -.) -30!.&
$H2CI$3L(3>3 G1%! 3T)?! B4 232CI$U#8C 6,3 5., =%) (! (1.AO(3>3 3>.10=8()# — 25,1 5.

WLl -%311=S 1$C37C3#(2) — 1559,5 5d. Y 23%)L&C$A 51Z)(3-5672C $
1$C32C3#(26 =3WI$%&(3 6 53C3-5&7C. PG 237CI$! -3581&()D 1$C32C3#(2) )?2%OL&(!
~301. (M (1732(1# 1$C351C)L8?23>3 -301.3CAZE .

b 2372C1$ O)%3>3 =35!, $ -35818&()# -3=$1%S(3>3 ECIO! =3WISu&(H -356180)#
«, &% P$HG) (Y3($82?)» -%311=S0 8,550 ) «, G&% 2$#5) (g37CE%8235)» ~%311=S0 5,5 5.

U&.&(82&(! $36=A[36IW3. (1# ZI[C! C.&(10&. (3>3 G1%! -3 3?) r $ -.)#532.

b C.&('0&.(35 G1%& $H-3%(&( =3-3%()CE%S(HD $[3= )G 23.)=3.1 -3=$1%I,
WCAGRE  -&.23(M%!  -8.8(8%%(. D(&2%%(3 =3-3%(&()& LC3 C.&(10&.(HD G1%
TA(2K)3(!%S(3 ?$#61( 2 O)%3D L12CSO =351 L&.86 23.)=3. ) %)TC3$3D [3%h (C!SWA.-
Z%06). U3581&0)# C.&(108&. (3>3 61%! 611)1&(H 1$C351C)LE?2)5 -301.3CAZ&()E5.

b 324[ 8-14, m-U $H-3%(&(! -&.&-%!().3$2! 281.C). (1- ) 2- 235(1C(1# 2$1.C)..!
3WX&=) (&(H $ 3-235(1C(AD). *C23. .842C) . 381 (H -%311=) $ E22-%)21K)).

U&.&-1= 3C54C32 0,45 5 $3 $C3.3D 262K)) O)%3>3 =35! 580=A $[3=(3D -%311=23D
) %)TC3$H5 [3W35 .&ZM( -37.4=7C$35 %&2C()L(3>3 5!1.Z! ) A?C.3D2C$!
$&.C)21%S(3>3 -3=XN5()2! =Wk ) ($1%)=3%$ C)-! «U.3Tm)TC».

b&(C)WH#K)# )G E%E2C.31)C3$3D -&.$3D 282K)) O)%3>3 =35! .17-3%30&((3D
(! -&.$35 ECI08, -.&=A?53C.&(! ? -3531S0 C.1(6)C(3>3 $36=A[3$3=!, -.3[3=#16>3
L&.86 -3=73W(38& -3581&()& 3T)?! 1 $ ?21537C3HCEUS(HD 21 (1%, $H%30&((HD )G
$&(CW323$ $ 3W185 23.)=3.& =35! (! C&[()L&?2)D L&.=12. ]! $H[3=& $36=A[3$3=!
)6 E%82C.31)C3$3D  -.84=A?53C.&(!  ACI(3$2!  (3.5'%S(3  3C2.HC3>3
3>(861=4.0)$1016>3 2%!-1(1 ? - .4=8%35 3>(&2C3D232C) EI90.

?($*8 (1$%- 1 /*-3C*% . %5*L3"<*3 813A%" ($* ’-

U.3=3%0)Ca%S(32CS )(?3%#K)) $ OYUH[ -358L&OH#[ -&.84-%! () .ALSH[ 28!.C).
$H-3%(HECH $  233C$4C2C$)) 2 C.aW3$!Q#5)  ;1(U)]  2.2.1/2.1.1.1076-01,
«@)>)&OLE22)& C.aW3$IO# 2 )(3WHK)) ) 23%(KEGI1)C& -35&18&()D O)UHI,
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3WAL&2CEE((H[ G6='(OD ) C&..)C3.)D», ;1 (U)] 212264510 «;!(QCL.(3-
E-)=85)3%3>)L&?2)& C.&W3$I1QQ# 2 AM3$)#5 -.30)$!1Q# $ OYUH[ G=1Q#[ )
-3581.8Q)#[».

F)%H& 235(ICH ) 2A[() .1??251C.)$NEH[ 2$!.C). 3wa?-&L&(H &?C&?C$&((H5
W323$H5 37$61&()&5 L&.&6 ?$&C3-.3M5H $ (1.AO(H[ 3>.10=101)[ 23(?C.A2K)#[.

P?22A?2C3&((3& 37$81&()& .&%!5&(C).381((HL -35&1&(0D -.)(O51KC?* $
?33C$6C?CH)) ? C.&W3$1O#5) ;1(U)] 2.2.1/2.1.1278-03 «n)>)&()LE&?2)& C.&W3SI # 2
&?C&?CH&((35A, )?2A?7CS&((35A ) ?3$581&((35A 37$61&()0O O)YUH[ ) 3WL&?C&((HL
6=1()D».

q![CH %)TC3$, E%&2C.31)C3$H& 6!-.382C).381(H ? ALMC35 C.&w3$!'(OD
WOCT.(HL --1$)%, C&5 ?15H5 (& >.1TQLIC ? O)%H5) 235(IC!5) -&.&-%1().ASH[
2$1.0)..

*0)=185H& A.38() ZA5! -.) .IW3C& )(O&(&-(3>3 3W3.A=381O# (& --&$HMC
-.&=8%S(3 =3-A?C)5H[ 6(IL&(D, ACI(B$W&((HL ;1 2.24/21.8562-96 «qA5
(! JIW3L)[5&7CI, $ -35818&O#[ O)%H[, 3WL&?CS&((HL 6='(OD ) (1 C&..)C3.)) O)%3D
617C.3D2)».

b[3=H $ -35&1&(Q# 3WL&?C$&((3>3 (16(LeQ# (3T)?H) 6!-.3&2C).3%!1(H,
)G63%) .3$!(3 3C O)%3D L17C) 6=1()#.

U%T()-383L(H& -&Z2&QO# $ -35618O#[, 3?(PL&((H[ 235-S0C&.15), -.) (#CH
$ ?733C$C?CH)) ? C.&aW3SIOQ#5) ;1 (U)] 2.2.2/2.4.1340-03 «n)>)&()L&?2)& C.EW3ST O#
2 Ubb__ ) 3.>I(QGIK)) -IW3CH», ;1(U)] 2.2.4.548-96 «n)>)&()L&?2)& C.&W3$IQ#
2 5)2.32%)5!1CA -.3)6$3=2CH&((H[ -358&1&()D». U.) .165&1&()) -MW3L)[ 5&?C
ALC&(H .1?2C3#(# 5&0=A .IW3L)5) ?2C3%15) ? 235-SOC&.15) ?23>%!1?(3 ;1(U)]
222/241340-03 «n)>)&QL&?2)&  C.&w3$rQ# 2 -&.23(1%wS(H5  E%&2C.3((3-
$HL) ?%)C&%US(H5 512) (15 ) 3.>1()GIK)) - IW3CH».

U%!()-383L(H& .&Z&O# 0O)%3>3 =351 -_)()5!0C?%# ? ALMC35 C.&W3$!'(OD
;1(U)] 2.1.2.2645-10.

U.36&2C35 -.&=A?53C.&(H ?)?C&5H $3=3?2(IWO&#, $3=33C$&=&)#,
C&-%3?(WOLO# $&(CY)UWHK)) ) E%&2C.3?2(IWO&()#. U.)(#CH& -.3&2C35 ?)?C&5H
3C3-%&O# ) $&(CYN#K)) 3W&?-&L!IC =3-A?C)5H& -1.156C.H 5)2.32%)51C!.

PGC5&(&)#, --.&=A?53C.&((H& -.3&2C(3D =32A5&(CIK)E&D, (& ?2()0O!10C ?1()Cr.(3-
E-)=65)3%3>)L&?2A0 WeG3-1?(37CS.

R(=-3. 7 «V31%/1*,8*, /% %A3"/3L3$*P -%"86/( *$"(-*-%"»

U.38&2C(H5) .&Z&O#5) -.&=A?53C.&(3:

-&.&-1=H $H?3C -3%33% (-3.3>3%) $ 6=1()) (! -ACH[ =$)0&O# _n] (& W3%&&
0,014 5;

A?C.3D?C$3 $ 26-ECTO(3D ?62K)) (! -&.&-1=& $H?3C 580=A $[3=(3D -%311=23D )
%)TC3SHS [3%%35 $&.C)21%S(3D -3=X&5(3D -%!CT3.5H C)-! «U.3T%)TC» ?
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.1658.15) -%1CT3.5H 900p1250 55 ) >.AG3-3=X&5(37CS0 250 25;
A?C.3D7C$3 $[3=! $ 3T)? B4 (&-3?.8=2C$&((3 ? -%'().3$3L(3D 3C5&C2) G&5%),
$[3=(1# >.A--1 3W3.A=3$1(! (!$6735 2 3.>1()G3$!((H5 $3=37C3235; >IW!.)CH
$[3=(H[ =$&.8D ) CI5WA.! 233C$8C?C$AOL)[ . 165&.3$; -32.HC)& -3%! $[3=(3>3
CISWA.1 )G 51C&.)1%3$, (& =3-A?2101) [ 223%SO&()H.

*CIRS(HE - . 382C(HE .&Z&O)# -.) (HCH WEG )65&(&()D.

323 ?°3-3%%, WA W/3L(8*"$>J *=C3$3$*,J, "$3"X$$>J =(,"*83.3C
" 1(™C(81*"(3C>3 1(=-3.> (/%-1(=-3.>) /1%3<8$%: -%<6C3$S(D** * /1%D3"™3
/1%"3-3%*, ;<"/318%=>.

b -.3K&?76 .12253C.&0)# -.382C(1# =32A5&(CIK)# «22-26-ECIO(HD 0)%3D =35 ?
~3=685(3D 1$C37C3#(23D ) $2C.38(3--.)?C.38((H5) (EO)¥H5) -3581&()#5).
Y3..820).3$2! 1 3» (Z)T. 10.108-0075-01.01-, 2014>., ? )G5. 8 3C 09.2016, 11.2016,
12.2016, 01.2017, ? )65. 9 3C 01.2017, 02.2017) =3.1W3C! (! -3 GI5&L! ()#5 E2?-&.C)GH.
J83W[3=)5HE )658(EQO# $ .16=8%H -.382C(3D =32A5&(CIK)) $(&2&(H, 6!5&LI#
A2C.1(&(H (-)?S5! 3C 1#$)C&%# I 28 3C 14.02.2017, 1 32 3C 20.02.2017, B 33 3C
20.02.2017, 1 34 3C 20.02.2017, N 42 3C 22.02.2017, N 43 3C 22.02.2017, N 47 3C
01.03.2017, 1 48 3C 01.03.2017, § 49 3C 01.03.2017, § 51 3C 03.03.2017, 1 54 3C
10.03.2017, 1 55 3C 10.03.2017, § 62 3C 15.03.2017, 1 65 3C 165.03.2017, ! C120¢& $
_IW3LES5 -3.#=28):

*C$EC2CHL((37CS 6! $(E2&OE& $3 $2% E2085-UH.H -.382C(3D =32A5&(CIK))
)658(&0D ) =3-3%(&D -3 GI5ELIOH5, $H#SWE((H5 $ -.3K&?7& -.3%8=a()#
(&37A=1.7C$8((3D  E27-&.C)GH, $36UI>18C?# (1 GI216L)21 )  >&(&.1%S(3>3
-.362C).331)2!.

U _5A"0# «B.LY, 08,N.2=0 .0Z0217»:

_1(8& 735912381 ((H& -.382C(HE .&Z&# $ L17C) A2C.3D2C$! ZA53611)C(H[ 323(

? -.)C3L(H5) 201-1(15) (! $2&[ T!21=I[ G=1()# $36$.11&(H $ -.382C(AO

=32A5&(CIK)O;

$ 2$#6) ? -6.8-%1().3$23D 2$1.C). (! -&.$35 EC!O& —.&=2CI$%&( .17LNC YO $3

$28[ 235(IC![ 3-235(1C(3D 2$!.C).H, -3 .8GAUSCICIS 23C3.3>3 (3.510)$(3&

GCILEO& YO* $ A2161((3D 2$!.C) . & 3WE?-EL&(3;

3We?-8L&( =37CA- _n] $3T)? 1 4;

)?22%OL&(H -&.8&-1=H $H?3C -3%3$ (-3.3>3$) $6=1()) W3%&& 0,014 5;

~)(#C3 3=(36(IL(3& .&Z&O& -3 .165&.15 -%ICT3.5H =%# _n] ) &

>.AG3-3=X&5(37C);

$ 21 (AGHE 3T)?! 14 - .8=A?53C.&(H 582C3 [.1(&O)# AW3.3L(3>3 ) ($(C!.# C.1- $

~3%A ) ?582)Ca%S =Y (1W3.1 $3=H:;

$368. 11&(H . 1(8& ?23>%123$! ((H& - .382C(H& .&Z&O# -3 )?22%0L&) O 2.8-%&)#

OCH. (H[ -)IW3.3$ ) C.AW3-.3$3=3$ (&-3?.8=2C$4((3 2 5802%$!.C).(H5
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208(15 ) -&.6>3.3=215, ?580(H5 ? 0)%H5) 235(ICI5), | C120& -3 A?C.3D2C$A
=3-3%()Ca%S(3D 6$A23)63%#K)) $ 5&2CI[ -.)5H21 O# 2C1US(HL $! ((;
(' %I .16=6%! Qg A21G1(3 5&7C3-3%30&()& $3=3(1>.&$ICRUS(H[ W123$
(2.8-%&()& W123$ ) C.AW3-.3$3=3$ 2 5802$!1.C).(H5 2C&(!5 ) -&.83.3=215,
7580 (H5 ? 0)%H5) 235(1C15), (& -.&=A?53C.&(3);
~3581&0)# ACU3$ 7$H6) «Y3($827» ) «g32C8%&235» $H-3%(&(H )63%).3$! ((H5)
3C 0)%3D L17C) =351, $[3=$ () [ 3?AL&2C$%&( -3 1$C3(35(3D %&2C()KE;
A21GT(1 . 12LNC(14 C&5-&. 1CA. 1 $(AC.&((&>3 $36=A[! $ -35818()#[ 7$#6) — 5°;%
)?22%0L&(3 2.&-%&()& -3=XN5(3D ~%!CT3.5H ((1-.1$%#01)[ ) =$)>1Ceuk#) 2 2Ca(&
2$1.C).H;
$ 21187088 =3-3%()C8US(3D G$A23)63%#K)) $ O)%3D 235(1C& 2$1.C).H $=3%S
5802$1.C).(3D 72C&(H (?580(3D ? [3%W435 ? -3=XM5()235) $H-3%(&(!
=3-3%()CUS(1# -&.8>3.3=21;
ACSL(E(! T!?21=(1# ?)7C85! 3WK)K3$2) 1 ) 2 ECIO&D O)%3>3 =35! - ()-!
«LOBATHERM P-R» (1.AO(3D C&-%3)G3%#K)) «532.3>3 C)-1» ? AC&-%)Ca%E5 )6
~&(3-3%)7C) .3%! ) 3W)K3$23D 2%) (2&. (3D ~%)C23D;
$ 7-.1$28& nPU! 3C.10&(H $2%& $(&2&((H& )05&(&Q#, ! C120& )?2%OL&(H
)65&(&)# A2161 ((H& $ (1.AZ&()& (3.51C)$(H[ =32A58(C3S.

0 .5A"0# «F.$08, $.0521A5H11 ), .$1, 0#:) , +5»;
3C23..42C).3$!(H %)?CH >.1T)L&?223D L17C) .16=6%! $ 233C$&C?C$)) ? . 16=8%35
U , (065.8) $ L17C) )65&(&O)# (1 .AO(H[ 28C8D;
3C23..82C).381 (! 3.>1()61K)3((3-C&[(3%3>)L&?21# 2[5! ? . 16=8%&()8&5 (! EC!-H
2C.3)CaUS2CS!;
3C23..82C).3$1( .17LMC -3C.&W(32C) $ 21=.I1[ ? .16=8%(8&5 (! ECI-H
2C.3)CaUS2CS!;
3C23..62C).381( .17LMC -3C.&W(37C) $ WHC3SH[ -3581&Q#[ ? .!6=8%&(8&5 (!
ECT-H 2C.3)C8%S2CS!;
3C23..82C).3$1( .17LMC -3C.&W(37C) $ .&2A.21[ ? .16=8%&()&5 (! ECI-H
2C.3)CaUS2CS!;
3C23..82C).381( .17LMC -.3=3%0)C8%S(37C) 2C.3)Cans?C$! ? .16=4%&()&5 (!
EC1-H 2C.3)C8%S2CS!;
CE27C3$1# L172CS =3-3%(&(! A2161()#5): 3W )?2C3L()2& GW3.! $3=H (!
~.3)6$3=2C$&((H& (AO=H; 3 .16581&()) W.)>!=H ?C.3)C8%&D (! 4 EC!-&
2C.3)Ca%S?CS!; 3W )2C3L() 28 $.&58&((3>3 EWE2C. 32(IWOR#;
20.3D>&(-%!( 4 ECI-1 ?2C.3)C&%S?C$! 3C23..62C).3$1( ? ALMC35 C.&W3$!'()D
«W.1$)% -3 3[.1(& C.A=! $ 2C.3)CEuS?CHe» ) «U.1$)% -.3C)$3-301.(3D
WEG3-12(37C) $ g3??)D?23D 88=&. 1K))».
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4. "H-*9H _* 75:8&3#1#14 71//4*#75,"=
4.1. Z>"%-> " %8WN3$** 83J$*L3"<%: L("8* /1%3<8%$%: -%<6C3$8 (D**

41.1.U.)(#CHE -.382C(H& .&Z&Q# ?33C$ECCSAOC G!1=1()0 (! -.382C).3$!'()&
(23..82C).3$2A), AC$&.0=M((35A  1216L)235, ) )?[3=(3-.!6.&Z)C&%S(3D
=32A58(CIK)).

4.1.2.U.382C(1 =32AB&(CIK)# -3 ?37CISA .16=8%3$ ?33C$8C2CHAEC C.EW3$!()#5
n.1=37C.3)Cans(3>3 23=82?1 g8, 237C1$ ) ?3=8.01()& .16=8%3$ ?33C$EC2C$AOC
C.aW3$TO)#5 2 23=4.01()0 .16=8%3$ -.382C(3D =32A5&(CIK)), A?C! (38%&((H5
U3%30&()&5 3 ?37C1$& .16=8%3$ -.382C(3D =32A5&(CIK)) ) C.&W3$!1O#[
2 Y[ ?3=%.0'(0)0, AC$%.0=M((H5 -32C!(3$%&()&5 U.1$)CauS?CH! g8
3C 16.02.2008 1 87. U.382C(H& .&Z&(# .16=8%3$ -.382C(3D =32A5&(CIK))
$H-3%(&(H $ ?33C$8C2C$)) 2 C.EAW3SIO#5) 6123(3=1C8%S2C$! g8, CALOLE?D)[
OWIBE(C3S,  (MK)3CMUS(H[ 2CI(=1.C3$ )  2$3=3$ -.1$)%,  $2%OLM((H[
$ -8.8L&(S (TK)3(MUS(HL 2CI(=!1.C3$ ) 7$3=3$ -.1$)% (L12C&D C12)[ 2C1 (=!.C3$ )
7$3=3$ -.1$)%), $ .8CAWSCICE -.)5&(&Q# 23C3.H[ (! 3WHGICE%S(3D 3?(3%%
3WE?-8L)$18C7# 23W%0=8()& C.EW3$!(OD 88=8.1%S(3>3 6123(! «j&[()L&?2)D
.&>%158(C 3 WEG3-12(37C) 6=1()D ) ?33.A0&()D», AC$&.0=M((HD -32C! (3$%& ()5
U. 1$)C8%S2C$! g3?72)D?23D 88=&. 1K)) 3C 26.12.2014 1 1521.

4.1.3.U.382C(H& .&Z&Q# -3 -30!.(3D WG3-17(37C) ?33C$8C?CSAOC C.&W3$I O#5
86=8.1%S(3>3 6123(! 1 123-8 «j&[()L&?2)D .&>%156(C 3 C.&W3$1 O#[ -30!. (3D
W&G3-12(37C) ».

4.1.4.U.382C(H& .8Z&QO# -3 )(O&(E.(35A 3W3.A=381()0 ) 72%CH5 )(O&(&. (3-
Ce[LE?23>3 3We?-4L&O)# 3WXE2C! ?33C$EC2CSAOC CE[LE?2)5  AM3$)#5
E(&.>3?(IWOI0L)[  (E22-%AIC).AOL)[)  3.>'QO)GIKID.  r!1.1208.)20)2)
) -1.056C.H )(O&&.(H[ ?)7C&5 ) )(O&(&. (3-C&[()L&?23>3 3W3.A=3$!1()#
G1-.382C).331(H $ ?33C$C2C$)) ? -.382C).AGSH5 (16(IL&OE5 3WX&2C!, &3
_12LNC(H5) -3C.&W(37CH5) $ E(&.>3.87A.2![.

4.15.U.382C(H& .&Z&(# ?33C$EC2CSAOC C.&W3$IO#5 >37A=!1.2C$&((H[ 21 ()C!. (3
E-)=65)3%3>)L&?2) [ -.1$)% ) (3.51C)$3$, ! C12 0& C.&W3$1)#5 C&[L&?2)[
_&WI5E(C3$, A2CT(3$UE((H[ 8&=&.1%S(H5 6123(35 1 384-8 «j&[()L&?2)D
.&>%158(C 3 WEG3-12(32C) 6=1()D ) 233.A0&()D» (2C. 10>%. 2).

4.1.6.U.382C(H5) .8Z&()#5) -.&=A?53C.&(H 5&.3-.)#C)# =U# 514353 US(H] >. A--,
$ 233C$8C7C$)) 2 G61=1()&5 (1 -.3820).331()& ) C.&W3$IO#5 8&=&.1%S(3>3
6123(1 1 384-8 «j&[()L&?2)D .&>%!5&(C 3 Wa63-12(37C) 6=1()D ) ?33.A0&()D»
(2C. 12 5%. 2, 2. 30 >%. 3) ) ;U 59.13330.2012 «JI32CA-(32CS 6=!()D ) ?33.A0&()D
=0t 51%353WYUSCHL >.A-- (128%&Q#. Q2CAI%)6) 381 ((1# .&=12K)# ;])U 35-01-
2001», $[3=#1&>3 $ ?37C1$ -&.&L(# ?$3=3$ -.1$)%, $ .&GAUSCICE -.)5&(&()#
23C3.H[ (! 3WHGICAS(3D 3?7(3$6 3WE?-&L)$IECH ?23W%0=8()& C.&W3$!()D
86=8.1%S(3>36123(! 1 384-8 .
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